East Christchurch Shirley Cricket Club



2015 – 16 Annual Report

Financial Statements

East Christchurch - Shirley Cricket Club Inc.

Office Holders 2015/2016 Season

Patrons Mr Neil Ockwell

President Howard Morel

Vice Presidents (2) Donn Leckie

Secretary Jeff Cope

Treasurer John Grocott

Assistant

Secretary-Treasurer

vacant

Club Captain Matt Richens

Deputy Club Captain Jared Roberts

Women's Club Captain Jacinta Savage

Women's Deputy Club

Captain

Steve Graham

Committee Harry Burson, Paul Cottam, Ben Hanham,

Mike Johnston, Nathan McNicol, Mitch Petheram, Roger Savage, Henk Stoffers,

Jared Van Eyk Menkman

Life Members Mrs. E. Flint, J.W. Grocott, B.A. Haworth,

T.G. Hayes, D.V. Hearn, N.G. Ockwell,

R.B. Parlane

ESCC nominated directors of

Shirley Sports Club Ltd.

John Grocott, Tim Grocott, Paul Cottam

ANNUAL GENERAL MEETING

Notice is hereby given that the **111th Annual General Meeting** of the East Christchurch-Shirley Cricket Club Incorporated will be held at the Pavilion, Burwood Park at 6.00 pm on Wednesday 28 September 2016.

The Annual report of the Management Committee will be submitted to the members for consideration, and the following ordinary business will be transacted:

- Confirmation of the minutes of the 110th Annual General Meeting held on the 23rd day of September 2015.
- 2. Adoption of the Annual report, Statement of Income and Expenditure and Balance Sheet as at 31st May 2016.
- 3. Election of Officers, Management Committee and Honorary Auditor for the coming season.
- 4. To consider the following Notice of Motion to be proposed by Jeff Cope and seconded by Howard Morel.

"That subscriptions for the 2016/17 season will remain unchanged from last season.

(Rates for 2016/17 given below for reference)									
Senior players - Men	\$360, reduced to \$260 if paid by 1/11/2016								
Senior players - Women	\$230, reduced to \$130 if paid by 1/11/2016								
U18 / Secondary students	\$225, reduced to \$125 if paid by 1/11/2016								
Twenty 20 Grade players - Men	\$160								
Junior players	\$90								
Junior family membership	<i>\$150</i>								
Year 8 pupil, pre-Xmas	\$ <i>45</i>								

All Senior and U18/Secondary school players must pay a minimum of \$100 before the start of the season."

\$40

5. General business.

Social member

Jeff Cope SECRETARY





COMMITTEE OPERATIONS

At the 2015 AGM:

- Attendance numbers at the AGM were low, with the required quorum only just being met – indeed, apologies almost out-numbered attendees. We are fortunate that there is still a small core of members willing to volunteer their time to help to run the club in what proved to be a very challenging year.
- There were only minor changes in the make-up of the committee for the season.
 Tim and Richard Papps both stood down after a number of years on the committee, while Nathan McNicol, Mitch Petheram and Roger Savage were new additions. Our thanks to Tim and Richard for their contributions, and we hope to see them back at a later date.

At the first meeting Howard Morel was elected Chairperson of the committee.

Four subcommittees operated throughout the season. Their responsibilities are given below, with convenors as noted. With Henk and Dave announcing that this would be their final season managing Junior cricket, the search was on to find their successors. Post April a new Junior Subcommittee has been formed, chaired by Paul Cottam, with a number of parents / coaches assisting. For the past few years, the burden of managing junior cricket has largely fallen on Henk & Dave who have both made a tremendous contribution for which we are very grateful. We are optimistic the new junior committee will continue their fine work, with the additional numbers allowing more work-sharing than was possible in the past. All the initial signs are positive.

- Activities Subcommittee (social and cricket events, publicity and promotion; communications: convenor – Matt Richens)
- Business Subcommittee (finance, sponsorship & fund raising, subscriptions, planning & club management, membership, club records, liaison with SSCL board: convenor – Howard Morel)
- Cricket Subcommittee (training & coaching, player recruitment, team entries, grounds & practice facilities, gear, school liaison, awards, disciplinary; convenors – Donn Leckie / Steve Graham)
- Junior Subcommittee (managing the operations of the Junior cricket section; convenors – Henk Stoffers & Dave Teale)

Committee Attendances

During the year, until the printing deadline for this report, eight meetings were held and attendance is recorded below (with apologies tendered recorded in parentheses). Playing and work commitments affected the attendance record of a number of committee members. Nev Lyons was invited to attend meetings given his key role as Coaching Manager.

H. Burson	5 (3)	H. Morel	7 (1)
J. Cope	7 (1)	M. Petheram	3 (5)
P. Cottam	8	R.Savage	3 (1)
S. Graham	6 (2)	M.Richens	7 (1)
J. Grocott	5 (3)	J. Roberts	6 (2)
B. Hanham	5	J. Savage	0 (8)
M. Johnston	6 (2)	H. Stoffers	7 (1)
D. Leckie	6 (2)	J. Van Eyk Menkman	8
N. McNicol	1 (5)		

Jeff Cope SECRETARY

Steve Barry and MAX INTERNATIONAL

are proud supporters of East Christchurch Shirley Cricket Club

Visit www.maxfitnesscollege.com and find out

"how to get a career you love and never work another day in your life"



<u>Important Notice for all Senior Men and Women Players</u>

Registration

Before you play your first game of the 2016/17 season you must be registered with the Club. This applies whether you are a current or intending member of the Club. Compulsory registration is being introduced so that we can better maintain our player register which we need for both improved management of player subscriptions and better communication with you.

Subscriptions

Payment of your subscription can be made at time of registration. You can make payment by:

- **Direct credit** to our bank account [ESCC bank account # 03 1700 0111638 00. Remember to state player's name.]
- Complete the online registration form and **post payment** to East Christchurch Shirley Cricket Club, PO Box 990, Christchurch.
- Payment in person at the clubrooms (Eftpos available)

Note that the Club also offers alternative methods of payment of subscriptions for those who cannot meet the one-off payment at the start of the season, including Eftpos and instalments via automatic payments.

A \$100 minimum payment is required before the start of the season to ensure selection.

Resignations

Please Note

Resignations must be in the hands of the Secretary no later than the date of the Annual General Meeting.

PRESIDENTS REPORT

This season has been one of change, or, to be more correct, one that has instigated change.

We have seen the end of an era with Neville Lyons, our Premier Men's coach, stepping down after thirteen seasons in charge. His record is one that will be very hard to better, having won every title that we compete for, including the National Club One Day Championship. I don't envy his replacement!

We have also seen our hardworking Junior convenors, Dave Teale and Henk Stoffers, step down. They have between them overseen hundreds if not thousands of budding cricketers, giving them the opportunity to reach their potential and love the game, a huge responsibility very well handled. We will miss their outstanding contributions.

This season we had high hopes of enjoying much on-field success but overall team results didn't live up to expectations, despite some good individual performances. Many of our teams struggled with numbers which meant continuity was a major problem. The low point was our withdrawal of the 2A Grade Men's team with two rounds to go. This became a major issue for the club, with ramifications with the Christchurch Metropolitan Cricket Assn. It also cost 3A "Hooters" any chance of winning the grade, a most regrettable outcome. Post season we have spent many hours on planning to ensure we have a competitive 2A Grade for next season.

Our Premier Men were in the hunt for silverware during the season but weather and a couple of bad days saw the opportunities slip away. It is a young team with plenty of potential.

Our Premier Women struggled with injuries for most of the season but played well in patches. We can again thank Steve Graham for the huge effort he puts into keeping our Women's teams together. We had Zimbabwean International Tasmeen Granger join us for the season and Tas was a great asset for the team and club. CMCA has again restructured Women's Premier cricket and we will be fielding a combined Premier Team with Lancaster Park-Woolston – only time will tell if this boosts numbers in women's cricket.

Representative honours went to Leo Carter, Ken McClure and Tim Johnston. Leo and Ken producing maiden centuries, with Ken making 193*. Nathan McNicol made Canterbury "A" touring NSW. Jacinta Savage and Olivia McGoverne made the Canterbury Magicians.

I need to thank all those who contribute to running the club and ensuring that the players are supported in their weekly endeavours. Our committee has ensured that we have everything we need, when we need it. Special thanks to Harry Burson, Barry Gibson, Jeff Cope, Donn Leckie and John Grocott who have, for more years than they can probably remember, worked quietly away without fanfare to keep us going. Thanks also to all our coaches, both Senior and Junior, and those who manage and support our teams. Our coaches continue to develop talented players. Much praise needs to be heaped on Pete Dunnel, our groundsman, who always provides excellent playing and practice facilities.

After 111 years we can probably expect a season that hasn't broken records but let's ensure that we all put in the big effort to get us back to where we belong!

I look forward to catching up with you all again next season.

Howard Morel PRESIDENT

SENIOR CLUB: TEAM RESULTS IN THE CMCA COMPETITIONS

Men's Section		<u>Place</u>	<u>Teams</u>
Premier Grade	Two - day Trophy Competition	5	8
	One - day Cup Competition	4	8
	Twenty20	3=	8
2A Grade ¹	Two - day Trophy Competition	8	8
	One - day Cup Competition	8	8
	Twenty20	3=	8
3A Grade ²	Championship competition	8	10
	Bottom 6	1=	6
3B Grade ² Kings XI Punjab	Championship competition Bottom 8	10= 2	14 8
Presidents Grade ² Gold	Cup competition Top 4	3 2	10 4
Presidents Grade ² Blue	Cup Competition	6=	10
	Bottom 6	3=	6
Women's Section			
Premier Grade	One - day Competition	3	5
	Twenty20	2	5
	Kirsty Bond Series	4	5
Division 1 ³	One - day Competition	6	6

¹ Withdrawn from the competition in February 2016 due to insufficient numbers.

² Grade split into 2 sections post Championship round-robin.

³ Joint team with LPW.

<u>CHRISTCHURCH METROPOLITAN CRICKET ASSOCIATION AWARDS</u> <u>2015/16</u>

Grade Awards:

Nil.

Individual Awards:

Canterbury Cricket Umpires & Scorers Assn. Award (awarded for sportsmanlike conduct in the Men's Premier Grade – for bowling): Nathan McNicol

Club Team of the Year: The team included Nathan McNichol

Sponsors

The club would like to acknowledge and thank the following club sponsors

- O'Sheas Public House
- Air Rescue Services Ltd Trust
- Lion Foundation
- Christchurch Metropolitan
 Cricket Assn
- Move Logistics
- Maharajah Restaurant
- McDonalds
- The Naked Baker
- Winnie Bagoes Ferrymead

- Max International College of Fitness
- Cricket Express
- The Southern Trust
- Canterbury Sports Fn
- Youthtown Trust Inc.
- NZ Community Trust
- Subway Parklands
- Burger King Marshlands Rd.

TROPHIES - 2015/2016 SEASON

Player of the Season Nathan McNicol

Player of the Season - Runner Up Craig Gibb

Max International College of Fitness Team of the Year Presidents Gold

Dr A.J. Orchard Memorial Trophy

[outstanding administrative service]

President's Award (Grocott Trophy)

[greatest all round contribution]

Dick Pannell Trophy

[most improved player below Premiers]

Richard Hayes Memorial Trophy

[most improved player under 21]

O'Shea's Public House T20 Player of the Year

Natasha Carruth Cup

[upholding the spirit of cricket in Women's grades]

Women's Most Improved Under 21

Women's Most Improved Below Premiers

Women's Most Promising Youth Grade

Batting Trophy - Men

Bowling Trophy - Men

Fielding Trophy - Men

Batting Trophy - Women

Bowling Trophy - Women

Fielding Trophy - Women

Afternoon Batting Trophy - Men

Afternoon Bowling Trophy - Men

Afternoon All Round Performance Trophy - Men

Eddie Parsons Shield

[most notable performance at Burwood Park]

Hartley Trophy

[most promising Junior player, year 8]

Paul Sullivan Memorial Trophy

[most promising Junior player, year 7]

Howzat Trophy

[most promising Junior player, year 5/6]

Tracey O'Neill Cup

[Junior girl player of the season]

Ray Anderson Memorial Trophy

[Junior coach of the year]

Dave Teale

Henk Stoffers

Connor Arnold

Tom Dixon

Leo Carter

Gina Aldersley

Rachel Davidson

Aleisha Doyle

Ashley-Jane Whittaker

Tim Hampton-Matche

Nathan McNicol

Ben Hanham

Olivia McGoverne

Hannah Malloch

Jacinta Savage

Craig Gibb

Garry Hooper

Arun Bhardwaj

Sahib Singh

Cormac Gallagher

Connor McLaughlin

Finn Pickering

Ashley-Jane Whittaker

Glen Bongartz

COACHING AND SELECTION

Men's Grades

Selectors

Premier / 2A grades: Captains, Nev. Lyons and Ryan Burson

Other grades: Captains

2015/16 season was a little different from other years. The retirement of three or four key senior players (T. Papps, D. Lyons, C. Stevens and M. Davidson), N. Broom moving back to Otago and captain D. Broom not available until after January meant we were possibly light on numbers for the senior squad, especially when covering for representative selections and injuries etc. Also Tom Dickson, the potential 2nd grade captain, was not available waiting for his shoulder injury surgery.

After a discussion with Darren and Ryan, we agreed to ask Nick Johnston to take the responsibility of captaining the team for 2015/16 season. The coaching and management team for the year would be Neville and Ryan, coaching, managing and selecting (with captains) and Jared Larsen senior scoring. Scotty Pawson was not available this season as he was committed to the head coaching task with New Brighton Rugby club, but he was always welcome to pop down to our trainings.

As predicted, Canterbury rep. selections had a huge impact on team availability during the year. Congratulation to Tim, Leo and Kenny in playing first class cricket, with Nathan making the A team and Australian tour. The club and I are very proud of these young players who are now professional first class athletes representing our great cricket club. These four players never shirked club trainings and came down after their Canterbury commitments to help bat, bowl and field. I thank them for that.

The contribution from Ryan over the last two years has been immense – his sense of humour and cricket knowledge has had a tremendous impact on the team.

Summary:

- Make up of senior squad & make-up of the new senior team
- Players availability
- New players
- Premier and 2nd grade Captains
- Four players away playing in England
- Vision for the team/squad
- Goals for team / squad
- Winter pre-season training at CCA four nets (Starting 1st week August to last week September)
- Due to players away and retirements in August we invited some of the East's Indian players to attend the club indoor training, but overall attendance was down on last year with new members attending.
- Squad practices during the first part of the season were well attended on Tuesdays / Thursdays but lacked numbers at times in the later period of the season when university started and half dozen 2A members left. This then became an issue regarding filling the 2A grade team on a consistent basis.
- Practice decks and the Burwood main cricket block were the best club batting decks in town with the improved irrigation which is the key to the consistency needed.

Premier Grade

Twenty/20: (Finished 3rd)

This was the first year this competition was finalised following a mixture of one-dayers and two-dayers. The team really delivered, with some outstanding individual performances, but ended up falling short when we dropped a game to Marist, which meant we narrowly missed making the semi-finals. I felt we were the team to beat and while we did not manage to deliver, it was a great learning curve for the team.

ODI'S: (Finished 4th)

We believed that this trophy was again within our reach, but, in one or two games, when we needed to deliver as a team, the hardness and self-belief required was lacking. The team was very disappointed with this result but some of the bowling, batting and fielding during this competition was excellent.

While the loss of our first class players puts pressure on team selections, their absences also provide opportunities for players beneath them to step up and show their skills. In many ways this is a positive outcome, as it gives new players plenty of opportunities to develop their game.

Two-day games: (Finished 5th)

The team finished fifth this season, which was disappointing especially given the talent that was available. I thought that we needed more consistency from all players. On top of this, with the team using so many players we could not get that settled team unity required.

I believe that a few crucial moments can determine whether a game is won or lost, and this season was no exception. A different decision or a better execution of a skill, would have seen the team getting the outcome it deserved. As I always say, this longer version of the game is the most challenging: it's the hardest trophy to win each year, but is also the most rewarding for both individual and team development.

Overall

While this was another good season, one big disappointment was the difficulties we faced fielding a full Second Grade side on a consistent basis. We tried each week to put our best available competitive teams on the field, but the shortage of players made selections across both top sides difficult. The core of new young players performed above expectations and with more experience they will improve their performances, and show much promise for the club's future.

Highlights were the very solid performance by all players, with three making the Canterbury first class team - Tim Johnston, Leo Carter and Ken McClure whose first year at this level was nothing short of brilliant. The selection of Nathan McNichol as Easts' Club "Player of the Year" was well deserved and his turn to be selected for first class honours is not far away. Nathan was selected for Canterbury A and was our only club player to be selected in the Canterbury Metro Club Team of the Year.

The leadership by captain Nick Johnston was outstanding. He led the side through some difficult times and he is going to be a key factor in the coming years, helping is take our young cricketers to the next level.

The contribution from Ryan Burson is invaluable. He is a well-accepted member of the group, and his input gives the team a real edge, driving the players' development.

2A Grade

This team had a difficult season due to the shortage of numbers. The side had no surplus players and when we had to cover the Premier team for rep players, injuries and unavailability, we had great difficulty fielding a full side. A number of games had to be defaulted and, in February, we had no option but to withdraw the side. This was not a good outcome, and made for an unsatisfactory season for the loyal core who stuck with the side. They were well lead by Tom Dixon who is emerging as a very good future leader and senior player.

The club is going to have to work hard next year to overcome these issues and to rebuild the depth required in the squad to field a consistently competitive second side, while also accommodating movements in the premier team. There has been a lot of work done post-season to rectifying the club's current player's position, and indications are that steps taken so far will go a long way to resolving these issues. (Well done chairman & committee).

Positives

We now have a large base of young talent which will give the Club an exceptional foundation to build from. The club needs to have patience over the next couple of years as we develop this young talent.

There was a great start this season with three young players picking up 2016/17 Canterbury contracts - congratulations to these boys (Tim Johnston, Leo Carter and Ken McClure). These three set the work ethic and standards for the rest of the Easts' squad to emulate.

The development of a new and strong leadership group this coming year will be one of the challenges for the coaches. This, the commitment by all the players to upgrade their skills, but most of all respecting each other on and off the field will be the **keys for future** success.

Club Teams

It was great to see the **Hooters team** train every Wednesday night and work exceptionally hard. This year they had points removed as a knock-on consequence of the 2A side defaults – a very unfair ruling. They were again a contender for the grade title but the loss of hard earned points put them out of contention.

The 3B grade side trained on Wednesday nights with good turn outs each week. They were prepared to listen and learn, and worked really hard. One of the lessons learnt during the year is that the club needs to help them more in terms of game day management. They are good club men with much enthusiasm for the game.

Last Say

Many thanks for the loyal supporters, who, every year turn up at each game. Their support for the senior team, and that of the committee, is greatly appreciated and has a huge impact on our team and club culture.

The Senior Squad will not forget Kath Pawson who sadly passed away after her short fight with her illness and our condolences to Brian & family. Brian, Scott and Jason have been

fantastic players and supporters of the senior team and me, and this has been greatly appreciated.

Many thanks to Ryan who has made an unbelievable impact on the squad; and thanks for the positive altitude and leadership of Captain Nick Johnstone and team leader Darren Broom. Thanks also to Jared Larsen the senior scorer, who, each week, does a fantastic job providing live scoring linked through our new website. Also thanks to the club's Burwood Park grounds curator Peter Dunell who produces the best club cricket block in town and similar quality grass practice wickets.

I personally would like to thank the East Shirley Cricket Club and all the club players I have had the privilege over many years of being involved with as their club coach. It has been a blast and the effort, fun and friendships have been awesome. Highlights were working with NZ and Canterbury players, which helped my own development immensely, and, of course, the five trips to the NZ Club Nationals in Auckland. Being associated with teams that have won three national trophy titles and many Canterbury Cricket club trophies from Premiers, Second and Third Grades has been a privilege. I've now handed this position over to Dave Grocott, a very experienced cricket coach and former senior captain of East Shirley Cricket Club. Dave and Ryan will need your support to progress and develop this exciting young team.

Many Thanks Guys

Neville Lyons
CLUB COACH

THANKS Nev Lyons!

Nev's input to the club over the years has been immense. While, for most people, he is most closely associated with the coaching of the senior squad, Nev has made many other valued contributions to the club, from providing wider "coaching the coaches" courses to helping out on the administrative side. Fortunately, he hasn't retired from these latter roles. However, as he is handing over the coaching reins for the senior squad, it's an appropriate time to recognize the great successes he and the team have enjoyed over the years. Nev gained his level 3 coaching certificate in 2002 and was appointed senior coach in 2003. His record below speaks for itself.

<u>Season</u>	Two-day	One-day	<u>T20</u>	National Club
2003/4	1 st	3 rd	-	n.a.
2004/5	4 th	1 st	_	n.a.
2005/6	1 st	1 st	-	2 nd
2006/7	3 rd	3 rd	-	3 rd
2007/8	1 st	2 nd	-	n.a.
2008/9	4 th	3^{rd}	-	n.a.
2009/10	3 rd	1 st	-	3 rd
2010/11	2 nd	2 nd	-	1 st
2011/12	2 nd	10 th	3^{rd}	n.a.
2012/13	3 rd	3^{rd}	2 nd	n.a.
2013/14	8 th	1 st	5 th	1 st
2014/15	4 th	$3^{\rm rd}$	1 st	n.a.
2015/16	5 th	4 th	3 rd	n.a.

PREMIER GRADE

2015/16 was a season of "what could have been" for the senior team.

But first, I would like to acknowledge Nev Lyons, aka sluggy, mr Lee and/or chook, for the years of hard work that he has dedicated to the club. Neville first started coaching juniors when DJ was knee high to a grass-hopper. He then moved up the ranks and took over the senior team and has spent at least the last fifteen years developing the side. Throughout his time he nurtured many a first class and international player and helped many others to grow their games and take them to the highest level. "Get your hip through / Full face / Make it grizzle", just a few of his top tips. That helped the lads.

So, on behalf of the senior team and past players, thanks for your time and service at East Shirley. But I'm sure we will still see you down there on Saturdays, reclining in the sun, eating your Belgian biscuits.

The season started well with our best performance - a convincing outright win over Riccarton. This was helped by a century each in the second dig by Leo & Ken, a 5 wicket haul from Nath and finished off by TJ with 3 for 3 off 6.

From there the season was one of peaks and troughs, with three wins and four losses in the two-day competition, four wins and four losses in the 50 over format, and three wins and three losses in the T20. A number of those losses were closely fought battles which unfortunately saw us ending up on the wrong side of the ledger.

We had our chances to progress into the finals for each format but just lacked that killer instinct from time to time which cost us in the crucial games/moments. But the lads learned plenty and our young squad can only get stronger from these experiences.

There were plenty of highlights throughout the season with 100s to Ken, Leo (two for Leo, with one coming in a T20) and Broomie. They were supported by Tim Hampton-Matehe who was our most consistent batsman with six scores over 50 and plenty of balls to the rib cage.

The bowling was led by our strike bowler Nathan McNicol who bagged two 5-wicket bags and four 4fas. He was supported nicely by TJ and Muzz who both bagged numerous 3fas. Also, golden arm Benny H getting his fair share of wickets.

The club has plenty of young talent coming to the fore, with Connor Arnold impressing with a well complied 82, after coming from Shirley boys half way through the season. Also, Josh Milne coming into his own with a couple of 4fas at the back end of the season.

Unfortunately, we could not provide the club with any silverware. Nevertheless, it was a good season and I would like to thank all the lads for their efforts. We'll be looking to reclaim some of the silverware in the upcoming season which has all the lads excited, especially with the arrival of Dave Grocott, another club legend, who will be taking over the coaching reigns this year. Welcome back to the sheds Dave!!

Lastly I would like to finish by thanking the club for all their support throughout the season, especially thanks to our loyal supporters club who never miss a Saturday. It's very much appreciated by the lads. With the passing of Kathy Pawson they will be missing their leader, but I'm sure she will be up there watching over us and having a strong word to mother cricket. The lads would like to dedicate next season to Kathy and bring her home the silverware.

Cheers

Nick Johnston CAPTAIN

Premier Grade Player of the Season: <u>TIM HAMPTON-MATEHE</u>

Men's Representative Honours 2015/16

<u>Canterbury</u> Leo Carter Tim Johnston Ken McClure Canterbury A

Tim Johnston Ken McClure Nathan McNicol



AVERAGES – PREMIER TWO-DAY COMPETITION

BATTING:								CATCHES/
	INN	NO	HS	AGG			50s	STUMPINGS
J. Van Eyk Menkman	6	4	26	82			-	1
L. Carter	3	0	110	121	40.3		-	2
T. Dixon	5	2	37*	108			-	1
K. McClure	5	0	108	178			1	1
D. Broom	7	1	108*	199			-	5
T. Hampton-Matehe	12	1	74	347			3	1
H. Teale C. Arnold	6 8	2 0	33 81	102 169			1	2/1 5
N. Johnston	9	0	44	174			J	8/2
J. Chaklan	3	1	18	38			-	4
T. Muir	3 7	1	36	110			_	2
J. Milne	4	2	31*	35			_	1
B. Hanham	11	0	35	176			_	9
DJ Lyons	3	0	30	41	13.7		_	5 5
T. Johnston	5	0	21	43			_	1
N. McNicol	6	0	19	51			_	3
T. Murphy	3	1	8	15			_	1
J. Duncan	7	0	12	50			_	2
J. Roberts	9	2	19*	43			_	2
	·	_			.	•		_
ALSO BATTED:								
A. Chouhan	1	0	9	9	9.0) -	-	-
J. Costello	1	0	4	4	4.0) -	-	-
C. Marsh	2	0	6	6	3.0) -	-	1
R. Spicer	2	0	0	0	0.0) -	-	-
D. Marsh	0						-	-
R. Bursen	0						-	1
DOWLING:								
BOWLING:	OVER	S M	DNS	RIINS	WKTS	AVE	R/O	VER BEST
T.Johnston	50		14	127	12	10.6		51 3/3
T.Dixon	14		0	55	5	11.0		75 4/26
N.McNicol	123		21	384	29	13.2		12 5/35
J.Duncan	10		2	28	2	14.0		75 2/28
J.Milne	39	.5	4	157	11	14.3	3.	94 4/23
B.Hanham	51		11	167	10	16.7		23 3/10
T.Muir	75	.2	16	209	12	17.4	2.	77 3/30
J.Roberts	113	.0	24	391	15	26.1	3.	46 3/37
J. Van Eyk Menkman	58	.5	7	287	9	31.9	4.	88 3/34
C.Marsh o	13	.0	1	52	0		4.	00 0/10
ALSO BOWLED:								
C.Arnold	2	.0	1	6	0		3.	00 0/6
D.Marsh		.0	1	21	0		3.	50 0/21
T.Murphy	8	.0	3	30	0	••	3.	75 0/30

AVERAGES – PREMIER ONE-DAY COMPETITION

B	Δ.	Т	TI	١N	IG	:

BATTING.	INNS	NO	HS	AGG	AVE	100s	50s	CATCHES/
K. McClure	2	0	72	87	29.0		4	STUMPINGS
	3	0	73	_		-	1	-
H. Teale	7	0	60	180	25.7	-	1	2
B. Hanham	7	0	63	173	24.7	-	2	2
T. Hampton-Matehe	7	0	59	166	23.7	-	1	3
T. Muir	3	0	34	69	23.0	-	-	2
N. Johnston	6	0	56	129	21.5	-	1	6/2
T. Johnston	3	0	33	62	20.7	-	-	-
J. Duncan	7	0	44	132	18.9	-	-	1
J. Van Eyk Menkman	6	0	20	60	10.0	-	-	-
J. Roberts	6	2	16	39	9.8	-	-	3
N. McNicol	5	2	6	9	3.0	-	-	1
ALSO BATTED:								
D. Broom	2	1	55	55	55.0	-	1	-
L. Carter	1	0	23	23	23.0	-	-	1
DJ Lyons	1	0	22	22	22.0	-	-	1
T. Murphy	2	0	20	32	16.0	-	-	-
C. Marsh	2	1	11	19	19.0	-	-	1
T. Papps	1	0	12	12	12.0	-	-	-
R. Spicer	2	0	12	18	9.0	-	-	-
T. Dixon	2	0	11	12	6.0	-	-	-
B. Michel	2	1	6*	6	6.0	-	-	-
A. Chouhan	1	0	0	0	0.0	-	_	-
F. Khalid	1	0	0	0	0.0	_	_	-
D. Marsh	1	1	21*	21		_	_	-
H. Clark	1	1	0*	0		-	-	-

BOWLING:

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
C.Marsh	13.0	2	28	4	7.0	2.15	3/12
N.McNicol	52.0	8	186	12	15.5	3.58	4/12
J.Roberts	55.2	7	188	11	17.1	3.59	4/5
D.Marsh	14.0	1	69	4	17.3	4.98	3/43
J. Van Eyk Menkman	45.0	1	191	8	23.9	4.24	2/24
B.Hanham	28.0	0	131	5	26.2	4.68	2/22
B. Michel	27.1	4	117	4	29.3	4.31	2/20
T.Muir	30.0	1	105	3	35.0	3.50	2/37
M. Davidson	10.0	0	37	1	37.0	3.70	1/37
T.Johnston	23.0	5	99	1	99.0	4.30	1/16
ALSO BOWLED:							
T.Dixon	7.2	2	18	2	9.0	2.45	2/12
N. Johnston	1.0	0	5	0		5.00	
D. Broom	1.0	0	5	0		5.00	
H. Clark	3.0	0	21	0		7.00	

AVERAGES – PREMIER COMBINED ONE & TWO DAY COMPETITIONS

BATTING:

	INN	NO	HS	AGG	AVE	100s	50s	CATCHES / STUMPINGS
D. Broom	9	2	108*	254	36.3	1	1	5
L. Carter	4	0	110	144	36.0	1	-	3
K. McClure	8	0	108	265	33.1	1	2	1
T. Hampton-Matehe	19	1	74	513	28.5	-	4	4
H. Teale	13	2	60	282	25.6	-	1	4/1
T. Dixon	7	2	37*	120	24.0	-	-	1
C. Arnold	8	0	81	169	21.1	-	1	5
N. Johnston	15	0	56	303	20.2	-	1	14/4
T. Muir	10	1	36	179	19.9	-	-	4
B. Hanham	18	0	63	349	19.4	-	2	11
J. Chaklan	3	1	18	38	19.0	-	-	4
J. Van Eyk Menkman	12	4	26	142	17.8	-	-	1
J. Milne	4	2	31*	35	17.5	-	-	1
DJ Lyons	4	0	30	63	15.8	-	-	6
T. Johnston	8	0	33	105	13.1	-	-	1
J. Duncan	14	0	44	182	13.0	-	-	3
T. Murphy	5	1	20	47	11.8	-	-	1
C. Marsh	4	1	11	25	8.3	-	-	2
J. Roberts	15	4	19*	82	7.5	-	-	5
N. McNicol	11	2	19	60	6.7	-	-	4
R. Spicer	4	0	12	18	4.5	-	-	-
ALSO BATTED:								
T. Papps	1	0	12	12	12.0	-	-	-
B. Michel	2	1	6*	6	6.0	-	-	-
A. Chouhan	2	0	9	9	4.5	-	-	-
J. Costello	1	0	4	4	4.0	-	-	-
F. Khalid	1	0	0	0	0.0	-	-	-
D. Marsh	1	1	21*	21		-	-	-
H. Clark	1	1	0	0		-	-	-
R. Bursen	0			••		-	-	1



CHRISTCHURCH METROPOLITAN
CRICKET ASSOCIATION

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
T.Dixon	22.0	2	73	7	10.4	3.32	4/26
N.McNicol	175.0	29	570	41	13.9	3.26	5/35
J.Duncan	10.1	2	28	2	14.0	2.75	2/28
J.Milne	39.5	4	157	11	14.3	3.94	4/23
T.Johnston	73.3	19	226	13	17.4	3.07	3/3
B.Hanham	79.4	11	298	15	19.9	3.74	3/10
C.Marsh	26.0	3	80	4	20.0	3.08	3/12
T.Muir	105.2	17	314	15	20.9	2.98	3/30
J.Roberts	168.2	31	579	26	22.3	3.44	3/37
D.Marsh	20.0	2	90	4	22.5	4.50	3/43
J. Van Eyk Menkman	103.5	8	478	17	28.1	4.60	3/34
B. Michel	27.1	4	117	4	29.3	4.31	2/20
M. Davidson	10.0	0	37	1	37.0	3.70	1/37
ALSO BOWLED:							
C.Arnold	2.0	1	6	0		3.00	0/6
T.Murphy	8.0	3	30	0		3.75	0/30
D. Broom	1.0	0	5	0		5.00	
H. Clark	3.0	0	21	0		7.00	
N. Johnston	1.0	0	5	0	••	5.00	



AVERAGES – PREMIER TWENTY20 COMPETITION

BATTING:

						BALLS	STRIKE	CATCH /
	INN	NO	HS	AGG	AVE	FACED	RATE	STUMPING
L. Carter	3	0	102	185	61.7	114	162.3	3
DJ Lyons	2	0	65	107	53.5	80	133.8	1
K. McClure	3	0	73	108	36.0	81	133.3	2
N. Johnston	4	0	65	95	23.8	53	179.3	3/1
T. Hampton-Matehe	3	0	57	64	21.3	63	101.6	-
T. Muir	6	1	42	102	20.4	76	134.2	3
J. Van Eyk Menkman	3	2	18	20	20.0	14	142.9	-
T. Papps	1	0	17	17	17.0	22	77.3	2
D. Broom	4	0	38	66	16.5	68	97.1	1
H. Teale	4	1	31	44	14.7	40	110.0	1/3
T. Murphy	2	0	20	22	11.0	24	91.7	1
T. Dixon	2	0	9	13	6.5	17	76.5	1
T. Johnston	4	0	16	19	4.8	12	158.3	1
J. Milne	3	2	1*	2	2.0	5	40.0	1
C. Marsh	1	0	1	1	1.0	2	50.0	-
B. Hanham	3	3	22*	58		36	161.1	4
J. Roberts	1	1	13*	13		5	260.0	1
N. McNicol	1	1	1*	1		1	100.0	1
J. Duncan	0							1

BOWLING:

						STRIKE	
	OVERS	RUNS	WKTS	AVE	R/OVER	RATE	BEST
T.Dixon	2.0	14	2	7.0	7.00	6.0	2/14
N.McNicol	8.0	52	4	13.0	6.50	12.0	2/26
K. McClure	6.0	59	4	14.8	9.89	9.0	2/28
J.Roberts	18.3	178	8	22.4	9.68	13.9	3/37
J. Milne	20.0	171	7	24.4	8.55	17.1	2/21
T.Johnston	14.5	130	4	32.5	8.76	22.3	2/43
J. Van Eyk Menkman	6.0	63	1	63.0	10.50	36.0	1/3
C.Marsh	8.0	77	1	77.0	9.63	48.0	1/38
B.Hanham	11.0	88	1	88.0	8.00	66.0	1/28
T.Muir	23.0	177	1	177.0	7.70	138.0	1/21



The best solution to your Logistics, Storage & Transport needs.

2A GRADE

As noted elsewhere in the report, after the first few games the team was short on players and fielding a competitive playing eleven each Saturday became an increasingly difficult task. Many players were brought in to make up team numbers – 52 players in total - but, in the end, this was not enough. After a number of defaults, it was decided in February to withdraw the team.

Results:

	<u>Two-day</u>	<u>One-day</u>	<u>T20</u>
Played	5	8	5
Defaulted	1	3	-
Won	0	2	3
Lost	4	3	2

Statistics are provided below for the combined two and one day competitions (as best they could be obtained.) In addition, the team played in the T20 competition with a number of performances of note.

Batting: T. Hampton 60; N. McNicol 56*; and T. Dixon 71 (104 from three innings, with one out).

Bowling: H. Clark 5/4; and J. Van Eyk Menkman 4/14

2A Grade Player of the Season: HAYDEN CLARK

_		_		_	_
AVERAGES - 2	A GRADE	COMBINED	ONF & T\	MO DAY C	COMPETITIONS

<u>BATTING:</u>							
	INN	NO	HS	AGG	AVE	100s	50s
J. Benjamin	7	1	47	153	25.5	-	-
P. Nagsar	4	0	64	91	22.8	-	1
H. Clark	10	2	75	179	22.4	-	1
D. Bhaktar	6	0	24	94	15.7	-	-
B. Michel	3	0	25	45	15.0	-	-
J. Singh	3	0	14	36	12.0	-	-
J. Milne	3	1	16	18	9.0	-	-
D. Patel	5	1	10	24	6.0	-	-
F. Khalid	4	2	7*	10	5.0	-	-
E. Khalid	6	0	9	25	4.2	-	-
H. Singh	4	1	7*	10	3.3	-	-
Jatinder Singh	4	0	4	5	1.3	-	-
ALSO BATTED:							
J. Duncan	2	1	101*	143	143.0	1	-
J. Van Eyk Menkman	1	0	71	71	71.0	-	1
Ballu Singh	2	0	93	120	60.0	-	1
J. Costello	2	1	49*	55	55.0	-	-
R. Spicer	1	0	48	48	48.0	-	-
J. Tucker	1	0	38*	38	38.0	-	-

BATTING ctd:							
	INN	NO	HS	AGG	AVE	100s	50s
T. Murphy	2	0	64	68	34.0	-	1
A. Chouhan	2	0	50	54	27.0	-	1
J. Patel	1	0	25	25	25.0	-	-
C. Marsh	2	1	18*	22	22.0	-	-
Saby	2	0	30	42	21.0	-	-
Jai	1	0	19	19	19.0	-	-
Pavi	2	0	19	32	16.0	-	-
T. Dixon	2	0	13	24	12.0	-	-
T. Christie	1	0	12	12	12.0	-	-
M. Bent	1	0	11	11	11.0	-	-
P. Singh Sagra	2	0	10	10	5.0	-	-
R. Shannon	1	0	5	5	5.0	-	-
Garry	2	0	9	9	4.5	-	-
Amandeep	2	0	6	6	3.0	-	-
S. Pavet	1	0	3	3	3.0	-	-
S. Varnsi	1	0	3	3	3.0	-	-
Amenjot	2	0	4	5	2.5	-	-
C. Sheehan	2	1	2*	2	2.0	-	-
Dilbagh	1	0	2	2	2.0	-	-
A. Singh	1	0	2	2	2.0	-	-
K. Knowles	1	0	2	2	2.0	-	-
J. Talbot	2	0	2	2	1.0	-	-
G. Singh	1	0	1	1	1.0	-	-
Ankit Singh	2	0	0	0	0.0	-	-
B. Bulam	2	0	0	0	0.0	-	-
B. Spicer	1	0	0	0	0.0	-	-
M. Flourday	1	0	0	0	0.0	-	-
S. Singh	1	0	0	0	0.0	-	-
Ashok	1	1	24*	24		-	-
N. Michel	1	1	3*	3		-	-

BOWLING:

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
J. Van Eyk Menkman	13.0	7	12	2	6.0	0.92	1/5
C. Marsh	23.6	10	56	7	8.0	2.37	4/30
T. Dixon	25.0	9	58	6	9.7	2.32	3/7
J. Tucker	10.0	2	41	3	13.7	4.10	3/41
Saby	17.3	2	42	3	14.0	2.43	3/18
J. Milne	31.0	1	114	8	14.3	3.68	4/28
Ankit Singh	23.4	0	115	7	16.4	4.91	4/69
J. Benjamin	15.0	0	114	5	22.8	7.60	3/81
H. Singh	18.0	0	82	3	27.3	4.56	2/53
H. Clark	105.0	12	430	13	33.1	4.10	3/26
B. Michel	37.0	3	169	5	33.8	4.57	3/63
E. Khalid	54.1	0	324	8	40.5	5.99	3/58
D. Patel	33.0	1	211	5	42.2	6.39	2/33

BOWLING ctd:							
	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
D. Bhaktar	20.0	1	163	3	54.3	8.15	2/62
ALSO BOWLED:							
A. Chouhan	2.3	0	15	2	7.5	6.52	
Amandeep	9.0	1	34	2	17.0	3.78	
K. Knowles	6.4	1	40	1	40.0	6.25	
J. Singh	2.0	0	16	0		8.00	
Jatinder Singh	4.0	0	30	0		7.50	
Ashok	4.0	0	19	0		4.75	
Jeewan	5.0	0	21	0		4.20	
Timmy	2.0	0	9	0		4.50	
J. Patel	7.0	0	82	0		11.71	
S. Vamsi	3.0	0	35	0		11.67	
T. Murphy	2.0	0	14	0		7.00	
Dennis	2.0	0	18	0		9.00	
Pankad	4.0	0	34	0		8.50	



3A GRADE

In writing this report I hope it doesn't come across as a big rant.

The season started out full of promise, two times defending champions and hoping to add to that tally. I was given the job of captaining the team after Murray Seaton stood down from the job (as it turns out a great piece of timing as far as he was concerned). And in saying I was given the job, I think it was more a case of no one else really wanted to do it.

(Richens edit - At our pre-season training – at O'Sheas – Batesy was actually quicker to volunteer than a teenage product tester at Peaches and Cream.)

We played 18 games this season, winning 9, losing 8 and having 1 match abandoned. If the rules governing the cricket competition were fair, we would have finished the season on 48 competition points but, unfortunately, they are far from fair and after one warning to the club, we were docked 5 competition points every time our 2nd grade side defaulted.

Most members of our team have played many seasons of full day cricket and helped out the club in any way possible. But our guys are now older, with other commitments such as family and work, and don't have the desire or time to play a full day's cricket on top of the time taken up for training, so it seems very unfair to punish us for the lack of players in the club. As it was, it was hard enough to fill our own team each Saturday let alone have players left over or willing to play a full day's cricket with a bunch of guys they don't know. Most of us playing now only do so to hang out with our mates and the cricket often gets in the way – however, we still have that competitive nature and like to win so it's a little difficult turning up on a Saturday knowing that if you win you get 0 points and if you lose minus 5.

In saying that, we probably weren't good enough to push for a three-peat this season anyway, but the whole thing left a pretty sour taste in most of our mouths.

There were some highlights during the season. As far as game results go, getting two wins over Marist-Harewood rated highly. Marist-Harewood comfortably finished on top of the table so to beat them twice was a great result and showed what we were capable of. Both results came down to the wire, and it was always enjoyable to beat a lot of ex Easts players. DJ Lyons, who was out on loan to the senior side more often than he played for us, scored our only century of the season and added two half centuries in his limited appearances for the good guys.

Murray Seaton - who now uses his own bats that he makes and are available for purchase, see Seaton Bat Company on Facebook - once again had a very consistent season and topped our run scoring with 489. Rob Leys picked up our only 5-wicket bag for the season and also took the most wickets overall with 29 ,just pipping Kyle Knowles and Richard Papps who both finished with 27.

The last game of the season looks likely to have been the last game for the famous East Shirley "Hooters". A number of players have announced they would be unavailable to play full time or at all due to other commitments. But only time will tell, when spring comes around and players get that feeling in their bones - or maybe it will finally be time to take up bowls.

And a final big thanks to our supporters who, to be honest, are more committed than most of us.

Batesy

Captain

3A Grade Player of the Season: KYLE KNOWLES

<u>AVERAGES – 3A GRADE</u>

BATTING	:
----------------	---

	INN	NO	HS	AGG	AVE	50s	100s	CATCHES/ STUMPINGS
D Lyons	6	0	106	262	43.7	2	1	-
B Wright	7	1	61	219	36.5	1	-	4
M Seaton	17	3	77*	489	34.9	4	-	2
C Stevens	3	0	56	99	33.0	1	-	1
M Petheram	10	2	75	237	29.6	1	-	4/1
M Richens	15	1	76	394	28.1	3	-	5
N Bates	13	3	31	183	18.3	-	-	-
R Papps	13	2	40	180	16.4	-	-	3
H Clarke	5	2	21	43	14.3	-	-	1
K Knowles	11	4	26	79	11.3	-	-	1
R Leys	11	3	25	86	10.8	-	-	1
L Ireton	7	1	15	27	4.5	-	-	1
M O'Connor	3	0	4	5	1.7	-	-	1
P Roberts	4	4	1*	1		-	-	4
ALSO BATTED:								
J Van Wiinki	1	0	97	97	97.0	1	-	-
M Davidson	2	1	65*	90	90.0	1	-	1
J Milne	1	0	45	45	45.0	-	-	-
C Renouf	1	0	43	43	43.0	-	-	1
B Michel	1	0	39	39	39.0	-	-	-
J Duncan	1	0	35	35	35.0	-	-	-
J Howard	1	0	34	34	34.0	-	-	2
M Friedwald	1	0	30	30	30.0	-	-	-
J Riach	2	0	38	38	19.0	-	-	-
B Knowles	1	0	17	17	17.0	-	-	-

BA	TTI	NG	ctd:
----	-----	----	------

	INN	NO	HS	AGG	AVE	50s	100s	CATCHES/ STUMPINGS
J Chalklen	2	1	15*	15	15.0	-	-	-
T Murphy	2	0	19	24	12.0	-	-	-
T Williams	1	0	12	12	12.0	-	-	2
M Cummings	2	1	11*	11	11.0	-	-	-
S McKey	1	0	10	10	10.0	-	-	-
W Grocott	2	0	17	17	8.5	-	-	1
T Dixon	1	0	8	8	8.0	-	-	-
Kusoon	1	0	8	8	8.0	-	-	-
T Granger	1	0	6	6	6.0	-	-	1
D O'Reily	1	0	5	5	5.0	-	-	-
G Dentice	1	0	2	2	2.0	-	-	-
J Coleman	1	0	1	1	1.0	-	-	-
K Smith	1	0	1	1	1.0	-	-	2
B Harkerss	1	0	0	0	0.0	-	-	1
Kumar	1	0	0	0	0.0	-	-	-
B Leith	1	0	0	0	0.0	-	-	-
Vivek	1	0	0	0	0.0	-	-	-
S Anngow	1	1	20*	20		-	-	-
C Bourne								2

BOWLING:

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
M Cummings	23.3	5	60	7	8.6	2.58	4/15
T Murphy	10.0	1	49	4	12.3	4.90	2/5
B Wright	47.0	11	168	13	12.9	3.57	4/20
R Papps	100.0	13	371	27	13.7	3.71	4/53
R Leys	141.0	38	444	29	15.3	3.15	5/34
K Knowles	122.4	27	424	27	15.7	3.46	4/32
L Ireton	52.0	7	224	9	24.9	4.31	3/10
H Clarke	31.0	5	153	6	25.5	4.94	2/33
T Granger	13.0	0	53	2	26.5	4.08	2/34
M Davidson	11.0	1	50	1	50.0	4.55	1/27
M O'Connor	15.0	1	104	1	104.0	6.93	1/8
W Grocott	13.0	1	70	0		5.38	0/17
C Stevens	15.0	0	72	0		4.80	0/8
ALSO BOWLED:							
M Friedwald	3.0	1	6	2	3.0	2.00	2/6
S McKey	8.0	1	31	3	10.3	3.88	3/31
C Bourne	7.0	1	42	4	10.5	6.00	2/5
T Dixon	8.0	2	34	3	11.3	4.25	3/34

BOWLING ctd:

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
J Howard	8.0	1	27	2	13.5	3.38	2/10
D O'Reily	7.0	0	27	2	13.5	3.86	2/27
J Van Wiinki	5.0	1	14	1	14.0	2.80	1/14
G Dentice	5.0	0	18	1	18.0	3.60	1/18
M Seaton	3.0	0	24	1	24.0	8.00	1/2
Kusoon	6.0	1	40	1	40.0	6.67	1/40
S Murphy	5.0	0	57	1	57.0	11.40	1/41
S Ashdowne	4.0	0	22	0		5.50	0/22
J Coleman	4.0	0	26	0		6.50	0/26
J Daly	2.0	0	16	0		8.00	0/16
W Dennett	2.0	0	34	0		17.00	0/34
B Harkerss	4.0	0	28	0		7.00	0/28
B Leith	2.0	0	9	0		4.50	0/9
D Lyons	2.0	0	25	0		12.50	0/2
B Michel	5.0	0	27	0		5.40	0/27
J Milne	4.0	0	10	0		2.50	0/10
M Petheram	3.0	0	27	0		9.00	0/27
J Riach	3.0	0	22	0		7.33	0/22
R Warn	4.0	0	48	0		12.00	0/48



3B GRADE: KINGS XI PUNJAB

3B Kings XI Punjab Player of the Season: SABI SINGH

(No report or player statistics provided.)



CLUB HONOURS BOARD								
2015-16 SEASON								
BATTING			BOWLIN	G				
A. Rendel	117	n.o.	A. Singh	6 / 14				
B. Singh	111		H. Clark	5 / 4				
L. Carter	110		H. Malloch	5 / 22				
K. McClure	108		R. Leys	5 / 34				
D. Broom	108	n.o.	N. McNicol	5 / 35				
S. Singh	106		A. Gray	5 / 43				
D.J. Lyons	106		N. McNicol	5 / 52				
C. Gibb	102							
L. Carter	102							
A. Hemingway	101							
J. Duncan	101	n.o.						

PRESIDENTS BLUE

Our team had another reasonable season by President grade standards. We picked up one or two more players, trialled out a few more, and backed up 2014-15 with eight wins to finish sixth out of ten. As always the generally good spirit that comes from a diverse team with a range of backgrounds and abilities made for an interesting afternoon. They love their cricket.

We were a solid mid-table team, well clear of the bottom ones, although we weren't able to knock over a top half of the table team despite a chance or two to do so. Some of our regular players who performed well the season before were not available as often which impacted on our chances and performances. We had some players new and old who were capable but moved on or only played a few games for various reasons. Not to worry. Player-wise we continued to recruit a mix of players, so hopefully our club will continue to be seen as a welcoming one for all, wherever they come from.

Performance wise the batting was anchored by Nick Cottam and Kasun Dandeniya at the top of the order, with both accumulating over 400 runs. Rajeev Varma was often valuable in the middle order when fit. Arun Bhardwaj played several telling middle order contributions, including the highest individual score of the season, a match-winning 93* against OBC. Newcomer to the team Sunny Dahliband had a couple of good outings as an impact player, Vajira Lasantha made a PB when needed., and Vinod Singh had an impressive cameo or two.

On the bowling front Arun Bhardwaj continued to take wickets, 25 in all, contributing to his winning of the Club afternoon grade all-rounder award for the season. Well done Arun. Bernard Rose bowled with sharp pace, being complemented by Vinod who turned out to be a good opening in-swinger. Kasun Dandeniya was effective with his leg-spin, taking 18 wickets and was possibly under-bowled at times (he won't have that problem next season – see below). Sudath Wijewardene and Alan Needs played their part when available.

Thanks go to several players who turned out at short notice to cover for erstwhile regulars – these include Vinay Varma, Vivek, Sudewa and Sanjeeva. Hopefully they can continue to help out next season, along with the two Tonys (Gray and Chester) who may have more time at their disposal. Special thanks as always in recent seasons to our scorer Anne McLeod, and hubby Angus for playing a few games when required.

The time is now well and truly right to hand over to a new captain now that a mix of players have been brought in to the team and are now becoming part of the furniture. By unanimous declaration at our team dinner, I accordingly hand over the reins to our new captain for 2016-17, Kasun Dandeniya. The good news for him is that the lads are fizzing.

Paul Cottam CAPTAIN

Presidents Blue Player of the Season: VINOD SINGH

AVERAGES – PRESIDENTS BLUE

INN	NO	HS	AGG	AVE	50s	100s	CATCHES/ STUMPING
14	0	74	456	32.6	2	-	6
12	2	71*	265	26.5	3	-	1
16	4	93*	336	28.0	3	-	4
19	0	80	448	23.6	2	-	8
10	8	13*	40	20.0	-	-	10
11	3	46*	119	14.9	-	-	5
12	1	75	168	15.3	1	-	2
5	0	39	69	13.8	-	-	
9	0	55	113	12.6	1	-	2
11	0	30	135	12.3	-	-	4/1
10	0	28	103	10.3	-	-	2
7	1	31	56	9.3	-	-	-
12	0	40	76	6.3	-	-	2
4	0	28	37	9.3	-	-	1
3	0	5	12	4.0	-	-	2
3	0	1	1	0.3	-	-	-
4	0	1	1	0.3	-	-	-
3	1	0	0	0.0	-	-	-
2	0	15	23	11.5	-	-	2
2	1	6	9	9.0	-	-	-
1	0	0	0	0.0	-	-	-
1	0	0	0	0.0	-	-	-
1	1	33*	33		-	-	-
1	1	1*	1		-	-	-
	14 12 16 19 10 11 12 5 9 11 10 7 12 4 3 4 3 4 3	14	14 0 74 12 2 71* 16 4 93* 19 0 80 10 8 13* 11 3 46* 12 1 75 5 0 39 9 0 55 11 0 30 10 0 28 7 1 31 12 0 40 4 0 28 3 0 5 3 0 1 4 0 1 4 0 1 3 1 0 2 1 6 1 0 0 1 0 0 1 0 0 1 1 33*	14 0 74 456 12 2 71* 265 16 4 93* 336 19 0 80 448 10 8 13* 40 11 3 46* 119 12 1 75 168 5 0 39 69 9 0 55 113 11 0 30 135 10 0 28 103 7 1 31 56 12 0 40 76 4 0 28 37 3 0 5 12 3 0 5 12 3 0 1 1 4 0 1 1 4 0 1 1 4 0 1 1 3 1 0 0 2 0 15 23 2 1 6	14 0 74 456 32.6 12 2 71* 265 26.5 16 4 93* 336 28.0 19 0 80 448 23.6 10 8 13* 40 20.0 11 3 46* 119 14.9 12 1 75 168 15.3 5 0 39 69 13.8 9 0 55 113 12.6 11 0 30 135 12.3 10 0 28 103 10.3 7 1 31 56 9.3 12 0 40 76 6.3 4 0 28 37 9.3 3 0 1 1 0.3 4 0 28 37 9.3 3 0 1 1 0.3 4 0 1 1 0.3 3 1 0	14 0 74 456 32.6 2 12 2 71* 265 26.5 3 16 4 93* 336 28.0 3 19 0 80 448 23.6 2 10 8 13* 40 20.0 - 11 3 46* 119 14.9 - 12 1 75 168 15.3 1 5 0 39 69 13.8 - 9 0 55 113 12.6 1 11 0 30 135 12.3 - 10 0 28 103 10.3 - 7 1 31 56 9.3 - 12 0 40 76 6.3 - 4 0 28 37 9.3 - 3 0 1 1 0.3 - 4 0 1 1 0.3 -	14 0 74 456 32.6 2 - 12 2 71* 265 26.5 3 - 16 4 93* 336 28.0 3 - 19 0 80 448 23.6 2 - 10 8 13* 40 20.0 - - 11 3 46* 119 14.9 - - 11 3 46* 119 14.9 - - 12 1 75 168 15.3 1 - 5 0 39 69 13.8 - - 9 0 55 113 12.6 1 - 11 0 30 135 12.3 - - 10 0 28 103 10.3 - - 12 0 40 76 6.3 - - 3 0 5 12 4.0 - -

_	_				_	_	
О	$\boldsymbol{\frown}$	۱A	"	11.		_	-
В		V١	,,	- 11	w		-
_	v	•	, .	-11	ч,	_	

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
T Gray	16.0	3	53	6	8.8	3.30	5/43
A Needs	21.0	1	74	6	12.3	3.50	2/11
A Bhardwaj	128.0	15	429	25	17.2	3.40	3/16
V Lasantha	13.0	0	80	4	20.0	6.20	1/10
Vivek	13.0	1	41	2	20.5	3.15	1/14
K Dandeniya	102.4	7	435	18	24.2	4.20	4/17
B Rose	61.2	4	285	11	25.9	4.70	3/33
V Singh	54.0	9	207	8	25.9	3.80	2/9
Sanjeeva	11.0	1	58	2	29.0	5.27	2/32
B Cairns	45.4	1	260	8	32.5	5.70	2/12

OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
34.2	2	199	6	33.2	5.82	1/10
65.2	4	325	7	46.4	5.00	1/25
44.0	8	144	3	48.0	3.30	1/12
16.2	2	93	1	93.0	5.70	1/30
18.0	0	115	1	115.0	6.39	2/26
3.4	0	26	1	26.0	7.60	1/12
8.0	0	35	0		4.40	-
1.0	0	5	0		5.00	-
4.0	0	26	0		6.50	-
3.0	0	26	0		8.67	-
1.0	0	13	0		13.00	-
	34.2 65.2 44.0 16.2 18.0 3.4 8.0 1.0 4.0 3.0	34.2 2 65.2 4 44.0 8 16.2 2 18.0 0 3.4 0 8.0 0 1.0 0 4.0 0 3.0 0	34.2 2 199 65.2 4 325 44.0 8 144 16.2 2 93 18.0 0 115 3.4 0 26 8.0 0 35 1.0 0 5 4.0 0 26 3.0 0 26	34.2 2 199 6 65.2 4 325 7 44.0 8 144 3 16.2 2 93 1 18.0 0 115 1 3.4 0 26 1 8.0 0 35 0 1.0 0 5 0 4.0 0 26 0 3.0 0 26 0	34.2 2 199 6 33.2 65.2 4 325 7 46.4 44.0 8 144 3 48.0 16.2 2 93 1 93.0 18.0 0 115 1 115.0 3.4 0 26 1 26.0 8.0 0 35 0 1.0 0 5 0 4.0 0 26 0 3.0 0 26 0	34.2 2 199 6 33.2 5.82 65.2 4 325 7 46.4 5.00 44.0 8 144 3 48.0 3.30 16.2 2 93 1 93.0 5.70 18.0 0 115 1 115.0 6.39 3.4 0 26 1 26.0 7.60 8.0 0 35 0 4.40 1.0 0 5 0 5.00 4.0 0 26 0 6.50 3.0 0 26 0 8.67



Proud sponsors of a champion club.

PRESIDENTS GOLD

The Presidents Gold side can feel satisfied with their performance this season, finishing third with 13 wins from 17 games in the double round robin, and then a very respectable second in the season-ending top 4 playoff. The Presidents grade has become increasingly competitive in recent seasons and we often came up against far more youthful teams but managed to give ourselves a decent chance of victory in every game played.

Our nemesis in recent seasons has been Merivale-Papanui who once again were the deserved "minor premiers" with their uncompromising style of play. However we ran them fairly close twice in the round-robin before convincingly beating them in the top 4 playoff in a very satisfying all-round performance. Unfortunately our only really poor batting performance came in another top 4 game against BWU when we seemed to suffer a bit of stage fright from playing on Burwood 1 and ultimately that cost us the championship.

The foundation to our performances was a more consistent top-order batting effort than in recent years. Hemingway, Gibb, Barry and Wells amassed nearly 2,500 runs between them at very healthy averages, which meant we had the foundation to consistently score in excess of 200 when we batted first and also chase down targets on a regular basis. Marc Wells' conversion into a top order batsman was particularly successful and he provided real impact in the pivotal number four position. Alan Hemingway oozed class whenever he batted and Steve Barry, despite limited appearances, remains a very influential player with the ability to score runs under pressure against the strongest opposition.

[Ed. – Gibby somewhat understates his own remarkable batting performance this season. 931 runs at 54.8 including one century and nine half-centuries. Fantastic and consistent effort!]

The bowling attack was well led by Tim Grocott with the new ball who had a very consistent season with 28 wickets at 16. Tim also had a maiden half century against OBC when he combined with Richard Cherry in a brilliant match winning partnership when we were all but dead and buried. Having only been dismissed once he then defended his wicket like Geoffrey Boycott for the remainder of the season to ensure he topped the batting averages.

The ageless Garry Hooper was on fire before Christmas and although the wickets dried up a bit for him later in the season as the pitches became less spin-friendly he still topped the wicket count with 30 to add to his monumental career haul. Howard Morel bowled particularly well this season as his stats suggest and considering he bowled a lot of his overs from the short road end at Burwood 3 his economy rate is testament to his relentless accuracy. While Arthur Daly had an uncharacteristically quiet season with the bat his ability to bowl tightly through the middle stages of the innings, and his general presence on the field, remains invaluable to the team. Garry Dentice was also an important part of the bowling attack adding variety with his probing left-armers and he had a great knack of getting top order wickets just when we needed them. Marc Wells generally bowled at the back end of the innings to the opposition's middle and lower order who found his extra pace difficult to handle.

While our batting and bowling skills were a match for all other teams in the grade our fielding and catching, at least relative to the other top teams, cost us at crucial times. However Steve Sharman, aka the Claw, was as dependable as always with 13 dismissals.

With an average age north of 50, introducing some younger blood is important if we are to continue to be a contender in this grade so with that in mind it was great to see Scott Pawson make a few appearances. Rod Hooper also added some real penetration to the bowling attack when he played and Stephen Woodhouse showed some glimpses of his ability with both bat and ball until a snapped achilles tendon on Burwood 1 brought an abrupt end to his season.

Our manager Donn Leckie continues to be the glue that holds the team together. We used 24 players this year and although his weekly challenge was to ensure we had a competitive 11 on Saturday there were times when we were oversubscribed so he got to finally dust off his selectorial axe on some occasions.

All in all it was an enjoyable season with some pretty good results, good weather and even three games on Burwood 1. I look forward to us having another crack in October.

Craig Gibb CAPTAIN

Presidents Gold Player of the Season: MARC WELLS



AVERAGES - PRESIDENTS GOLD

В	۸.	 -1		$\overline{}$	_
к	Δ		N	(i	•
u	~		14	v	=

BATTING.								
	INN	NO	HS	AGG	AVE	50s	100s	CATCHES/ STUMPINGS
T. Grocott	6	5	63	87	87.0	1	-	4
C. Gibb	19	2	102	931	54.8	9	1	7
S. Barry	9	2	80*	347	49.6	2	-	2
A. Hemingway	15	3	101	552	46.0	3	1	5
C. Tibbotts	4	1	43	138	46.0	-	-	-
M. Wells	17	3	76	578	41.3	2	-	9
R. Cherry	9	3	39	134	22.3	-	-	2
G. Dentice	8	6	17*	43	21.5	_	-	2
S. Pawson	3	0	32	61	20.3	-	-	-
N. Boyle	9	0	33	169	18.8	-	-	5
S. Daly	14	3	44	184	16.7	-	-	5
J. Robson	7	2	21	69	13.8	-	-	1
M. Williams	3	0	23	27	9.0	-	-	4
G. Hooper	8	3	10*	30	6.0	-	-	3
ALSO BATTED:								
A. Albertson	2	1	14	20	20.0	-	-	-
RX. Hooper	2	0	21	35	17.5	-	-	-
J. Hemingway	1	0	16	16	16.0	-	-	-
J. Salkeld	2	0	10	10	5.0	-	-	1
B. Rose	1	0	3	3	3.0	_	-	1
S. Sharman	2	0	0	0	0.0	-	-	10/3
H. Morel	2	2	5*	7		-	-	3
S. Woodhouse	2	2	19*	26		-	-	1
BOWLING								
	OVI	ERS	MDNS	RUNS	WKTS	AVE	R/OV	ER BEST
J. Salkeld		14.0	1	69	6	11.5	4.9	3 4/41
H. Morel	!	96.2	14	342	24	14.3	3.5	6 3/8
T. Grocott	1	18.4	21	466	28	16.6	3.9	4 4/30
G. Dentice		72.1	6	287	17	16.9	3.9	8 3/14
G. Hooper	1	09.3	5	568	30	18.9	5.2	0 4/26
S. Daly	!	92.0	8	371	17	21.8	4.0	3 4/42
M. Wells	!	91.2	10	382	15	25.5	4.1	9 3/24
C. Gibb	;	54.0	3	256	10	25.6	4.7	4 3/52
RX. Hooper		22.0	5	105	4	26.3	4.7	7 2/5
R. Cherry	;	30.0	3	146	4	36.5	4.8	7 2/26
ALSO BOWLED:								
M. Williams		2.3	1	14	2	7.0	6.0	9 2/14
J. Robson		5.0	0	36	0		7.2	
S. Woodhouse		7.0	0	29	0		4.1	

WOMEN'S SECTION REPORT

Women's Representative Honours 2015/16

Zimbabwe Tasmeen Granger <u>Canterbury</u> Olivia McGoverne

Magicians Jacinta Savage

<u>Canterbury</u> Olivia McGoverne U21 Jacinta Savage

PREMIER GRADE

The team enjoyed better results this season, but the injury list affected virtually everyone.

The team finished a creditable third in the main 50-over competition, both in the 3rd/4th play-off in the last game of the season, and on the competition table. There were seven wins from 13 games, and again the team won its last four games, against three clubs, just like last year.

A second placing was achieved in the T20 competition, due partly to a rain cancelled double-header and bye points, as the only win was against Sydenham. On the other hand, the 6-aside competition's fourth placing doesn't reflect three very close losses, the largest loss by only nine runs.

Everybody carried injuries, including the club's two current Magicians, Jacinta Savage and Olivia McGoverne. Jacinta looked a far more accomplished keeper in her second season wearing the gloves for the Magicians, but it does take its toll on her fingers. Olivia's back niggle also restricted her involvement in the Magicians' season. Even Gina Aldersley was injured, for possibly the first time ever! Gina missed a couple of games (yes, it's true), but in every other game she persevered and bowled her entitlement before limping off for a week's rest until the next game.

The season looked like it was going to start really well. The club had been working to contract 20 year old Zimbabwean international Tasmeen Granger to coach the women's section and play for the premiers. New Zealand's and Australia's Immigration Departments finally processed her visas with the electrifying speed of pond water! Tasmeen landed in Christchurch in early December, although it took a while for Bio-security to scrub any shoes she wore playing for Zimbabwe in Thailand.

Tasmeen is a very good all-rounder, bowling right arm off-spin and a hard-hitting batsman. She also has a massive throw which makes the western boundary on Burwood 2 look tame.

Hannah Linton, a former Magician, joined the team after a few years off after playing for OBC. Hannah was voted the Players' Player of the Year, even though she missed many games due to surgery. Despite playing only six 50-over games, Hannah was in the top of both the batting and bowling tables, with a batting average of 79.5 and having taken 9 wickets. Her all-round skills, maturity and positive nature endeared her to many.

Rachel Davidson joined the club in October. The 16 year old opened the innings more often than not, doing extremely well to protect the no 3s and 4s from oppositions' opening bowlers. Her average of 20.7 is quite healthy for an opener at her age, including a high score of 39no in the 50-over competition.

But Rachel would also join the injury list. In one game against Sydenham all 11 players were carrying injuries. We are thankful for Hayley Moore and Brittany Graham, who play virtually every week even though they would like to make greater contributions. Hayley shows the massive gulf between the Premiers and Division 1 competitions, averaging 2 and 56 respectively.

We thank retired, semi-retired and trying-to-be-retired players who filled in for some games, including Kim Minogue, Jess Little, Wendy Fuller, Daisy Tredinnick, Sandy Clark, Sam Case and Alyssa Millard. Zarah Dettmer and Nicole Purdom gave the game a go, and young Division 1 team member Ashley-Jane Whittaker played her debut Premiers game on Burwood 2 in December. The 23rd player to play in the team this season was Auckland cricket's Natasha van Tilburg, who played in the last two games against Saints, scoring a 33 and taking two catches in a talented keeping display.

The team played one game on Burwood 1, a huge win against eventual champions LPW. LPW were all out for 49 in the 21st over. Opening bowlers Gina (5-3-7-1) and Hannah Malloch (5-1-13-2) bowled extremely well, assisted by two catches by Daisy, who makes it look easy. Hannah Linton (4-1-7-1) and Tasmeen (5-2-6-1) continued LPW's collapse. Rachel (19no) and Jacinta (18no) scored the nine-wicket win in the 7th over. The team really gelled together on Burwood 1 that day.

Other highlights were:

- Olivia's 86 against Saints at Elmwood, her highest score in Premiers;
- Hannah Malloch's 5 for 22 in the same game to thrash Saints by 122 runs;
- Amy Rendel's 117no in the 15-over 6-aside game against Saints at Garrick Park;
- Rachel's (46) and Tasmeen's (56no) 100+ partnership in the 6-aside against Sydenham on Ilam;
- Jess Davidson's 2 for 11 in the same game;
- Hannah Malloch's six wickets that day in two 6-aside games (3 for 10 and 3 for 22):
- Kim's extraordinary bowling figures of 4-2-2-3 against Sydenham in a rare game on Sydenham 1;
- Amy ending that game with 26no from only seven scoring shots;
- Hannah Linton's 3 for 16 and 51no to beat Saints on Burwood;
- Tas's direct hit from behind the far stumps to run out a Saints Magician for a duck in the same game; and
- Venetia Stoffers' 3 for 21 to help set up an easy win against Saints in the last game of the season.

The Premier women acknowledge the passing of Kathy Pawson. Every Saturday Kathy would ask how the Premiers went: and she always wanted to know more than just the result.

Next season signals a massive change for the club's involvement in Premier Women's cricket. A new zone-based four team competition replaces the current club-based five team one. Easts will sit below LPW as one of the zone's feeder clubs.

While on the surface it appears to be a down-grading of Easts, it means the club's committed premier players are guaranteed whole team practices, and 11 players on Saturdays. It also gives Easts a chance to rebuild numbers.

Jacinta Savage
CAPTAIN and WOMEN'S CLUB CAPTAIN

Stephen Graham
DEPUTY WOMEN'S CLUB CAPTAIN

Premier Grade Women Player of the Season: <u>HANNAH LINTON</u>



Proud sponsors of a champion club.

AVERAGES - PREMIER WOMEN ONE DAY COMPETITION

BATTING:

<u> </u>							0.4.7.01.15.07
	INN	NO	HS	AGG		50s	CATCHES/ STUMPINGS
H. Linton	5	3	51*	159	79.5	1	-
O. McGoverne	8	1	86	273	39.0	2	8
J. Savage	9	2	57	217	31.0	1	3
A. Rendel	3	1	34	60	30.0	-	2
H. Malloch	3	1	31	58	29.0	-	-
R. Davidson	7	1	39	124	20.7	-	1
A. Millard	3	0	27	44	14.7	-	-
T. Granger	5	0	29	50	10.0	-	3
V. Stoffers	6	0	16	38	6.3	-	1
J. Davidson	8	1	13	41	5.9	-	3
G. Aldersley	7	2	6*	25	5.0	-	-
H. Moore	5	1	5	8	2.0	-	1
B. Graham	5	3	0*	0	0.0	-	-
D. Tredinnick	_	_	_	_	_	-	2
ALSO BATTED:							
K. Minogue	1	0	50	50	50.0	1	-
N. van Tilburg	2	1	33	38	38.0	-	2
S. Clark	1	0	26	26	26.0	-	1
S. Case	1	0	17	17	17.0	-	-
J. Little	1	0	14	14	14.0	-	-
W. Fuller	1	0	2	2	2.0	-	-
Z. Dettmer	2	0	1	2	1.0	_	-
N. Purdom	1	0	0	0	0.0	_	-
A. Whittaker	1	0	0	0	0.0	_	-
7 ti VVIIttantoi	•	Ü	Ü	Ü	0.0		
BOWLING:							
	OVERS	MDNS	RUNS	WKTS	AVE	R/O\	/ER BEST
J. Savage	42.0	5	146	10	14.6	3.	5 4/30
G. Aldersley	67.5	6	246	10	24.6	3.	6 3/18
H. Malloch	20.0	1	84	9	9.3	4.:	2 5/22
H. Linton	40.4	4	140	9	15.6	3.	5 3/16
T. Granger	27.0	4	82	6	13.7	3.	0 3/25
V. Stoffers	21.5	0	117	6	19.5	5.	4 3/21
J. Davidson	15.0	0	100	4	25.0	6.	7 2/27
K. Minogue	10.0	3	26	3	8.7	2.	6 3/2
A. Rendel	12.0	0	71	3	23.7	5.	
O. McGoverne	24.4	1	118	3	39.3	4.	
R. Davidson	19.2	2	95	2	47.5	4.	
ALSO BOWLED:		-		_		•••	,·-
J. Little	4.0	0	10	1	10.0	2.	5 1/10
B. Graham	2.0	0	22	1	22.0	11.	
A. Millard	6.0	0	54	0		9.	
	5.0	3	0.	J	••	0.	5 5/11

AVERAGES - PREMIER WOMEN 6-ASIDE COMPETITION

BATTING:

	INN	NO	HS	AGG	AVE	50s	100s	CATCHES/ STUMPINGS
A. Rendel	2	2	117*	156		-	1	1
T. Granger	2	2	56*	103		1	-	-
V. Stoffers	1	0	32	32	32.0	-	-	-
R. Davidson	4	0	46	81	20.3	-	-	1
H. Moore	2	0	5	9	4.5	-	-	-
J. Davidson	4	0	9	12	3.0	-	-	1
H. Malloch	2	0	5	5	2.5	-	-	-
D. Tredinnick	2	1	1*	2	2.0	-	-	1/1
B. Graham	2	2	4*	7		-	-	-
G. Aldersley	1	1	3*	3		-	-	-

BOWLING:

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
H. Malloch	6.5	0	32	6	5.3	4.9	3/10
V. Stoffers	4.0	0	38	2	9.5	19.0	2/38
T. Granger	5.4	0	30	2	15.0	5.6	1/11
R. Davidson	13.0	0	85	2	42.5	6.5	1/24
H. Linton	5.0	0	46	1	46.0	9.2	1/35
J. Davidson	11.0	0	90	1	90.0	8.2	1/31
A. Rendel	8.0	0	96	1	96.0	12.0	1/56
G. Aldersley	4.0	0	29	0		7.3	0/14
J. Savage	1.0	0	11	0		11.0	0/11
B. Graham	3.0	0	37	0		37.0	0/37



AVERAGES - PREMIER WOMEN TWENTY20 COMPETITION

BATTING:

	INN	NO	HS	AGG	AVE	50s	CATCHES/ STUMPINGS
H. Linton	2	0	45	53	26.5	-	1
V. Stoffers	2	0	36	52	26.0	-	-
J. Savage	1	0	26	26	26.0	-	-
T. Granger	2	0	41	43	21.5	-	-
R. Davidson	2	1	15*	16	16.0	-	-
O. McGoverne	1	0	15	15	15.0	-	-
J. Davidson	2	0	12	18	9.0	-	1
G. Aldersley	1	0	1	1	1.0	-	-
B. Graham	1	1	1*	1		-	-

BOWLING:

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
V. Stoffers	5.0	0	59	2	29.5	11.8	2/49
G. Aldersley	8.0	0	34	1	34.0	4.3	1/18
H. Linton	5.0	0	46	1	46.0	9.2	1/35
R. Davidson	3.0	0	20	0		6.7	0/20
J. Davidson	1.0	0	8	0		8.0	0/8
T. Granger	8.0	0	69	0		8.6	0/28
J. Savage	1.0	0	11	0		11.0	0/11
B. Graham	1.0	0	29	0		29.0	0/29



The best solution to your Logistics, Storage & Transport needs.

DIVISION 1 GRADE

This season's Women's Division 1 team saw the continuation of last season's successful partnership between LPW and East Shirley. Both clubs were in a similar position with few girls below the Premier level.

Rachel Candy of LPW and Stephen Graham of Easts continued the team foundations set with Selena Charteris last season, with the support of Metro and the two clubs. The team continued to practice at Burwood Park, although this time coached by Easts' contracted Zimbabwean International, Tasmeen Granger. Easts provided the gear and Saturday's team management, while LPW provided a club-neutral playing strip. Ashley-Jane Whittaker's mother Victoria continued as the team scorer, for which the team is certainly thankful.

However, this year the team's numbers diminished and then numbers were affected by injuries. It didn't help that there were only three teams in Division 2, and the Sydenham and OBC teams were also short on fielding nine players. We tried a rotation where the two teams set to play each other were supported by the players of the bye team. This seemed to work well at first, but not everyone could see the benefits. We moved the team into Division 1 and called it the Metro All Stars, as girls from other clubs were supposed to help each week.

Most of the games were changed to festival type games of between 20 and 30 overs, depending on the numbers, and we thank the other clubs for turning up so that our players got some sort of game. It's a credit to our girls that they turned up to play knowing that they could be playing with or against each other, depending on how the numbers were each Saturday. It's also a credit to the oppositions, for being so accommodating so that everyone who turns up gets a game.

The team played ten games in the season, having had to actually default three. All ten were lost.

A significant success was player of the year Ashley-Jane Whittaker's improvement after Tasmeen arrived in New Zealand and started coaching the girls. Ashley-Jane's batting average went from 2 before Christmas to 15.8, including a high score of 28. She bowled 1 wicket before Christmas, and 6 after.

Aleisha Doyle's batting improved on last season, and included a 7 not out. Aleisha is starting to control her looped left-arm bowling better and use the wind to assist. When she's on the spot batters struggle with the late drop and turn. Jessica Tyrrell and Amy Zorn enjoyed some much higher batting scores, with Jessica showing some consistency with a high scoring 28 not out on a 23.0 average, and Amy a 33 not out.

The team could do with some more girls, even those who just want to give cricket a go.

Stephen Graham MANAGER

Women's Division 1 Player of the Season: ASHLEY- JANE WHITTAKER

AVERAGES – DIVISION 1-2 GRADE WOMEN

BATTING:			
	INN	NO	HS

	INN	NO	HS	AGG	AVE	50s	CATCHES / STUMPINGS
H. Moore (ES)	3	1	43	113	56.5	-	-
J. Tyrrell (LPW)	4	1	28*	69	23.0	-	1
A. Zorn (LPW)	6	1	33*	85	17.0	-	-
A. Whittaker (ES)	12	1	26	91	8.3	-	1
A. Doyle (ES)	10	2	7*	27	3.4	-	2
M. Williams (ES)	2	0	2	2	1.0	-	-
O. Nahr (ES)	2	0	1	1	0.5	-	-

BOWLING:

	OVERS	MDNS	RUNS	WKTS	AVE	R/OVER	BEST
A. Whittaker (ES)	43.0	0	264	8	33.0	6.1	3/32
H. Moore (ES)	10.1	0	35	4	8.8	3.5	2/17
A. Doyle (ES)	32.0	0	204	3	68.0	6.4	1/11
J. Tyrrell (LPW)	9.0	0	51	1	51.0	5.7	1/21
O. Nahr (ES)	7.0	0	30	0		4.3	0/12
A. Zorn (LPW)	6.0	0	53	0		8.8	0/9
M. Williams (ES)	1.0	0	16	0		16.0	0/16



JUNIOR REPORT

It is with some sadness that I write my last Junior report. By now you will know that at the end of the season both Dave Teale and I ended our terms as Junior convenors. I'd like to thank Dave for all his hard work and his friendship - we had a very good relationship over the last ten years .We both feel that now is the time to go and hope that a new group of volunteers will step up, take the helm and keep this great club going forward.

Over the last season the club has grown from around 120 players (post-earthquake) to 165, with 14 teams entered this year. This is very good progress and a good sign for the future, and I hope that, with some new ideas, the numbers keeps growing and we expand even further.

We had a good season, with some teams winning their grades. However, for me, the real winners were the players who improved over the year, and who were a credit not only to their coaches but to themselves. We all need to remember that a main aim is to enjoy the game, playing alongside one's friends.

Dave and I would like to thank all the coaches and managers who gave up their time on a Saturday to look after the teams, and hope you all are back to help out again this coming season. Make sure you ring your players as soon as possible to see if they are coming back for the new season and encourage them to sign up again early. Most players will be able to remain together, but Year 6 players and above have to be in current school years to assist in the transition at Year 8 to secondary school.

We'd again like to thank our sponsors for their support they give the kids with the "Player of the Day" vouchers: *Cricket Express, Burger King Marshlands Road, O'Sheas Bar/restaurant, Subway Parklands, Naked Baker, Mc Donald's, Winnie Bagoes Ferrymead* and *Maharajah Restaurant Papanui*. We hope their support continues and all are on board for next season.

The prize giving was a great day and very hot. Thanks to all who helped out selling raffles and assisted with the BBQ. Congratulations not only to all the Medal Winners but also to all the other players who made it a successful year. We hope you had a great season and will see you back again this year. Emails will be out soon in relation to signing on for the 2016-17 season.

The winners of the junior awards were:

Top Junior Awards

Tracey O'Neill Cup: Junior Girl Player of the Year Ashly Jane Whittaker

Hartley Trophy: Boys Year 8 Cormack Gallagher

Paul Sullivan Memorial Trophy: Boys Year 7 Conner McLaughlin

Howzat Trophy: Boys Year 5/6 Finn Pickering

Ray Anderson Memorial Trophy: Coach of the year Glen Bongartz

Finally, we'd like to thank the club for all the great support they've provided – we both take away a lot of good memories from this great club. Also, thanks to our families who helped out and supported us over all the years. We will be back in some form in the future, probably in other roles in the Club environment.

Henk Stoffers (with Dave Teale)
JUNIOR CONVENOR



Our thanks to



CANTERBURY SPORTS FOUNDATION (Incorporated)

For their continuing support of our Junior Cricket Programmes

JUNIOR ENROLMENT FOR THE 2016-17 SEASON

All Junior Players & Coaches!

You can enrol by one of three ways:

- Online
- Visit www.eastchchshirleycricket.org.nz and complete the registration form.
- You can make subscription payments by :
 - Direct credit to our bank account [ESCC bank account # 03 1700 0111638 00. Remember to state player's name.]
 - Complete the online registration form and post the payment to East Christchurch Shirley Cricket Club, PO Box 990, Christchurch

- Mail
- Download a registration form and post the completed form plus subscription to East Christchurch Shirley Cricket Club, PO Box 990, Christchurch
- Sign on
- Register and make payment in person at the Clubrooms, **Burwood Park** at the following times (Eftpos available):

Saturdays Sept. 17 & 24, Oct. 1 & 8 : 10.00am - noon

Junior Subscriptions Individual \$90.00 Family \$150.00

Year 8, Pre Xmas \$45.00

Junior Pre - Season Activity Days & Naming of Teams

- Saturdays October 1 & 8, 10.00am noon
- Cricket games. Come and try batting, bowling and target throwing.
- Make this a social occasion Free BBQ all players, parents and guardians welcome.
- Club training and practices open to all Juniors begin **Training** Wednesday October 5 at 4.30 pm. First Game Season starts on Saturday 15 October . More Junior coaches needed - ring or email Paul. Coaches You don't have to be a qualified coach, as training and support will be provided.
 - **Enquiries?**
- Ring Paul Cottam 0273893585 or email him at thecottams@clear.net.nz

TREASURER'S REPORT

The Club's finances continue to be challenging. The accounts are subject to audit at the time of writing. This year we have recorded a small surplus of \$1,239 compared to \$2,278 last year. However, this is partly due to a special donation of \$10,000 received during the year. Without this a loss would have been recorded. Consideration was given to putting some of the donation aside for a special purpose but this didn't eventuate.

Income is up on 2015. This is due mainly to the donation. Fundraising and grants are slightly down and subscriptions are similar to 2015. There are no unspent grants this year (2015: \$1,250). Sundry income includes fees for coaching programmes led by Tasmeen Granger – our visiting coach.

Expenditure is up on 2015. Our main costs show some variations. Coaching (including travel) include costs relating to Tasmeen Granger's employment and are up on last year. The cost of gear, including cricket balls, is down and grounds are similar to 2015. Other costs are generally consistent with the previous year although there are some variations. Pavilion running costs have resumed and uniform costs are higher than usual. Pavilion running costs will be higher in future. The new rate of \$10,000pa is based on funds required by Shirley Sports Club Ltd to manage the clubrooms effectively, as negotiated with their Board.

The statement of financial position clearly sets out the situation at balance date. The liquidity position is sound with funds in the bank exceeding current liabilities. GST is back to normal and inventories are slightly down on last year. The special funds are on term deposit with Westpac and earn a small amount of interest. Details are shown in the notes. Overall, we have managed satisfactorily in the 2016 year but we still need to generate more income to cover costs, particularly with an increase in pavilion running costs in the coming year. A surplus position is desirable to maintain equity and cash flow. Losses are not sustainable in the long run so it is important to maintain good controls on expenditure and monitor incoming revenue closely. This is something the incoming committee will need to watch closely. It will surely be another challenging year ahead.

The unaudited accounts of Shirley Sports Club Ltd are also included in the Annual Report. These show a loss after depreciation and reflect the matters regarding rents for member clubs mentioned above.

In conclusion, our thanks to the gaming trusts and Canterbury Cricket Assn for their support as set out in the notes. Also Andy Innes of Cricket Express, Allan Stroud of O'Sheas and all others for their continued support and sponsorship. These are acknowledged in more detail elsewhere in the report. My thanks also to club members for their assistance during the year, particularly Harry Burson, Donn Leckie, Steve Graham, Paul Cottam and Henk Stoffers (and his team) for the work they do collecting subs, handling hospitality activities, the Xmas raffle fundraiser and helping with other matters. A good effort by all concerned and much appreciated.

John Grocott TREASURER

EAST CHRISTCHURCH SHIRLEY CRICKET CLUB INC

STATEMENT OF FINANCIAL PERFORMANCE

FOR THE YEAR ENDED 31 MAY 2016

	This Year	Last Year
INCOME		
Donations Fundraising and Grants (Note 8) Interest Received	10,000 48,159 478	•
Subscriptions Sundry Income	23,257 <u>2,576</u>	23,122 590
Total Income	84,470	75,955
LESS EXPENSES		
Administration & Management Audit Coaching Depreciation Gear Grounds Pavilion Maintenance & Running (Note 10) Prize Giving & Social Functions Team Fees and Levies Travel – Visiting Coach Uniforms	4,033 935 15,460 5,768 10,365 23,475 5,000 4,635 4,013 2,124 7,423	
Total Expenses	83,231	73,677
SURPLUS (LOSS) FOR YEAR	1,239	2,278
Fundraising for Capital Item		
SURPLUS (LOSS) TRANSFERRED TO MEMBERS' FUNDS	\$ <u>1,239</u>	2,278

These Financial Statements are to be read in conjunction with the Auditor's Report and Notes to the Financial Statements.

STATEMENT OF FINANCIAL POSITION

AS AT 31 MAY 2016

11112 11 1421 11	Tŀ	าเร	Yr	Last	Yr
------------------	----	-----	----	------	----

18,671 18,825 288,400 289,385

NON CURRENT ASSETS		
TRUST RESERVES		
Westpac Term Deposit - Orchard Trust Deposit - 12M @ 3.25% Westpac Term Deposit - Dean Memorial Fund Deposit - 12M @ 3.25% Westpac Term Deposit - W Duncan Devpt Fund Deposit - 12M @ 3.25%	2,000 5,000 2,053 9,053	2,000 5,000 2,053 9,053
FIXED ASSETS (Note 6)	29,242	35,011
CURRENT ASSETS		

TOTAL ASSETS \$ 326,695 333,449

Represented by -

Inventories

CURRENT LIABILITIES

	7,074	15,067
Goods and Services Tax	-	-
Accounts Payable and Income in Advance (Note 8)	7,074	15,067

MEMBERS' FUNDS AND RESERVES

Accumulated Members' Funds (Note 2)	310,568	309,329
Orchard Trust Reserve (Note 3)	2,000	2,000
W Duncan Development Fund (Note 4)	2,053	2,053
Russell Dean Memorial Fund (Note 5)	5,000	5,000
,	319.621	318.382

TOTAL LIABILITIES AND MEMBERS' FUNDS \$ 326,695 333,449

These Financial Statements are to be read in conjunction with the Auditor's Report and Notes to the Financial Statements.

NOTES TO THE FINANCIAL STATEMENTS

FOR THE YEAR ENDED 31 MAY 2016

1. STATEMENT OF ACCOUNTING POLICIES

Reporting Entity

East Christchurch Shirley Cricket Club (Inc) is incorporated under the Incorporated Societies Act 1908.

Basis of Preparation

The financial reports of the East Christchurch Shirley Cricket Club (Inc) are special purpose reports prepared for the Club Management Committee and Club members.

Measurement Base

The accounting principles recognised as appropriate for the measurement and reporting of financial performance on a historical cost basis have been followed by the Club. Reliance is placed upon the fact that the Club is a going concern and that accrual accounting is used to match expenses and revenues.

Specific Accounting Policies

The following is a summary of the significant accounting policies adopted in the preparation of the financial statements.

(a) Accounts Receivable

Accounts receivable are stated at their estimated net realisable value.

(b) Inventories

Inventories are valued at the lower of cost or net realisable value, on a first-in-first-out basis.

(c) Fixed Assets

Fixed assets are stated at cost less accumulated depreciation except for playing gear which is stated at valuation. Buildings have not been revalued to the registered market valuation. Depreciation is calculated using rates considered appropriate by the Committee.

(d) Goods and Services Tax

The financial statements have been prepared on a GST exclusive basis.

(e) Liabilities

Liabilities are stated at the estimated amounts payable and include obligations which can be reliably estimated.

(f) Grants and Donations

Grant and donation income is recognised as income on receipt unless the Society has a liability to repay if the requirements of the grant or donation are not fulfilled. A

liability is recognised to the extent that such conditions are unfulfilled at the end of the reporting period.

Changes in Accounting Policies

Apart from adopting the applicable new reporting requirements for incorporated societies, there have been no material changes in accounting policies. All policies have been applied on a basis consistent with those used in the previous year.

This Year Last Year

2. ACCUMULATED MEMBERS' FUNDS

Opening Balance	309,329	307,051
Surplus (Loss) for Year	1,239	2,278

Closing Balance \$ 310,568 309,329

3. ORCHARD TRUST RESERVE - \$2000

Opening Balance 2,000 2000

Closing Balance \$ <u>2,000</u>

The Orchard Trust is a capital fund in perpetuity with the income arising from the investment paid to the Club as long as it remains in existence. If the club ceases the Trust capital reverts to the Canterbury Cricket Association. The Fund is currently invested in a Westpac Term Deposit Investment Account and interest income of \$70 was earned during the year.

4. W DUNCAN DEVELOPMENT FUND - \$2,053

Opening Balance 2,053 2053

Closing Balance \$ <u>2,053</u> <u>2053</u>

This fund was established in 2002/2003 to assist junior development. The Fund is currently invested in a Westpac Term Deposit Investment Account and interest income of \$72 was earned during the year.

5. RUSSELL DEAN MEMORIAL FUND - \$5,000

This fund was established in 2003 following receipt of a legacy from the late Russell Dean, a former Club member, long-time supporter and cricket enthusiast. The Fund is currently invested in a Westpac Term Deposit Investment Account and interest income of \$176 was earned during the year.

Opening Balance 5,000 5000

Closing Balance \$ <u>5,000</u>

6. FIXED ASSETS

Details are as follows -

	Cost	Accum Deprec	Book Value 3 <u>1/5/16</u>	Book Value <u>31/5/15</u>
Pavilion and Buildings	9,549	3,087	6,462	6,594
Plant and Equipment	113,464	90,684	22,780	28,417
Playing Gear (At valuation)	<u>24,413</u>	24,413		
	\$ <u>147,426</u>	<u>118,184</u>	<u>29,242</u>	<u>35,011</u>

7 PAVILION REDEVELOPMENT & SHIRLEY SPORTS CLUB LIMITED

The Club entered into a Heads of Agreement and Joint Venture Agreement with the Shirley Rugby Football Club Inc. for the redevelopment of the existing pavilion in 2004. The project commenced in March 2005 and was completed in November 2005. Under the agreement, the pavilion is managed by the Shirley Sports Club Limited, a non-profit company established for this purpose. Each Club has equal shareholding and appoints three Directors. Under the agreement, "ownership" of the pavilion passed to the company at an agreed value and a notional gain on sale resulted. This was treated as an increase in member's funds in the 2006 year. During the 2015 year a further advance of \$5,000 was made and, by agreement, rent owing totalling \$27,000, net of GST, was deducted from the advance. As a result, the amount of the advance to the company was reduced. There have been no transactions of similar nature during the 2016 financial year. At balance date advances made by the Club to Shirley Sports Club Limited totalled \$254,660 (last year \$254,660).

8. FUNDRAISING AND GRANTS

The following grants and donations are included in the Accounts.

<u>Income</u>	This Year	LastYear
Lion Foundation	-	15,000
Southern Trust	20,000	6,000
Air Rescue Services Ltd	13,913	10,000
Canterbury Metropolitan Cricket Association	6,960	9,000
NZ Community Trust	3,800	-
Canterbury Sports Foundation Inc	500	-
Move Logistics – Sponsorship for 2017 season	5,000	-
Xmas Hamper – Net Proceeds	<u>1,736</u>	<u>1,783</u>
	51,909	41,783
Add: Unspent Grant carried forward – Air Rescue	1,250	9,500
<u>Less</u> : Unspent Grants/Sponsorship in advance – Move Logistic	s -5,000	-1,250
	<u>-3,750</u>	8,250
TOTAL	\$ <u>48,159</u>	\$ <u>50,033</u>

9. INCOME TAX

The Society has been granted a tax exemption under CW46 of the Income Tax Act 2007 and no income tax is payable.

10. RELATED PARTY TRANSACTIONS

The Society has related party transactions with the Shirley Sports Club Limited. In the current year the club paid rent of \$5,000 (2015: Nil). This reflects a special arrangement adopted by the directors of the company for 2016 due to a sound cash position but is subject to change. Future rents will be determined by the directors in consultation with member clubs based on funds required to manage the company effectively. Rents were previously based on an agreed formula. The current basis was introduced from the year commencing 1 April 2015.

During the year under review, East Christchurch Shirley Cricket Club Inc. has transactions with committee members of the Society for expenditures incurred on behalf of East Christchurch Shirley Cricket Club Inc.

These transactions were on a normal commercial basis.

11. CAPITAL COMMITMENTS

The Club had no capital commitments as at 31 May 2016. (2015: \$Nil)

12. CONTINGENT LIABILITIES

The Club had no contingent liabilities as at 31 May 2016. (2015: \$Nil)

13. SUBSEQUENT EVENTS

There are no events subsequent to balance date, which would materially affect the Financial Statements as at 31 May 2016. (2015: \$Nil)

SHIRLEY SPORTS CLUB LIMITED

STATEMENT OF FINANCIAL PERFORMANCE

FOR YEAR ENDED 31 MARCH 2016

OPERATING ACTIVITIES	2016	2015
<u> </u>		
INCOME		
Interest	114	209
Rentals – Clubs (Note 8)	10,000	-
Rentals – Functions and Temporary Sundry	7,588	5,847
Bar Operating Surplus	<u>21,174</u>	<u>24,031</u>
	38,876	30,087
LESS EXPENSES	•	,
ACC	160	206
Audit	1,995	1,845
Bad Debts	· -	-
Bank Fees	259	511
Cleaning - Wages & Supplies	7,028	6,462
Consulting and Administration	1580	- 25 750
Development Expenses Directors' Expenses	-	25,750
Fire Protection Contract	1,319	661
General	943	280
Insurance	18,979	11,582
Insurance Claim Excess	, -	9,343
Interest	1,120	1,161
Lease - eftpos	658	308
Lease - Property	235	332
Postages, Printing and Stationery	362	227
Power and Light	5,187	5,543
Repairs	2,984 380	3,073
Security Sky Rentals and Installation	3,664	518 3,601
Telephone	741	697
Travel		-
	- 47,594	72,096
Surplus (Loss) for Year from operations	(8,718)(42,009)	

The accompanying Notes and Audit Report form part of and are to be read in conjunction with these financial statements.

STATEMENT OF FINANCIAL PERFORMANCE PAGE 2 FOR YEAR ENDED 31 MARCH 2016

	2016	2015
DEVELOPMENT ACTIVITIES		
INCOME		40.000
Donations – General		10,000
SURPLUS FOR YEAR FROM DEVELOPMENT	-	10,000
Add OPERATING SURPLUS (LOSS) BROUGHT FORWARD	<u>(8,718)</u>	(42,009)
TOTAL SURPLUS (LOSS)FOR YEAR	(8,718)	(32,009)
LESS DEPRECIATION	30,257	31,306
NET SURPLUS (LOSS) FOR YEAR	<u>(38,975</u>)	(63,315)
Shareholders' Equity at Beginning of Year	<u>138,770</u>	<u>202,085</u>
SHAREHOLDERS' EQUITY, 31 MARCH 2016	\$ <u>99,795</u>	<u>138,770</u>

The accompanying Notes and Audit Report form part of and are to be read in conjunction with these financial statements.

STATEMENT OF FINANCIAL POSITION

AS AT 31 MARCH 2016

	2016	2015
SHAREHOLDERS' EQUITY		
Paid Up Capital (Note 2)	-	-
Capital Development Reserve	143,721	•
Lift Development Reserve	219	219
Retained Earnings	<u>(44,145)</u>	<u>(5,170)</u>
TOTAL	\$ <u>99,795</u>	<u>138,770</u>
Represented by:		
CURRENT ASSETS		
Cash on Hand	1,030	1,186
Westpac Bank - Cheque Account	6,911	•
Westpac Bank - Imprest Account	1,030	705
Receivables (Note 8)	7,980	10,527
GST Refund	-	-
Stock	<u>4,531</u>	<u>3,354</u>
	21,482	38,988
FIXED ASSETS - At Cost Less Depreciation as per attached Sche	edule	
Building Costs	653,799	683.061
Hard Standing Areas		5,793
Plant and Equipment	1,273	
Furniture and Fittings	1	<u>313</u>
	660,480	689,444
TOTAL ASSETS	681,962	728,432
CURRENT LIABILITIES		
Payables	15,288	6,942
GST Payable	(1,635)	•
Loan - Short Term Interest Free (26 Months)	1,542	-
Current Portion - Loan Christchurch City Council (Note 7)	,.	5,000
Advances - Shirley Rugby Football Club Inc. (Note 6)	312,311	
Advances - East Christchurch Shirley Cricket Club Inc. (Note 6)	254,661	
	582,167	589,662

The accompanying Notes and Audit Report form part of and are to be read in conjunction with these financial statements.

STATEMENT OF FINANCIAL POSITION ctd.

AS AT 31 MARCH 2016

	2016	2015
CURRENT LIABILITIES BROUGHT FORWARD	582,167	589,662
TERM LIABILITIES (Note 7)		
Loan -		
TOTAL LIABILITIES	<u>582,167</u>	<u>589,662</u>
NET ASSETS	\$ <u>99,795</u>	<u> 138,770</u>

The accompanying Notes and Audit Report form part of and are to be read in conjunction with these financial statements.

NOTES TO AND FORMING PART OF THE FINANCIAL STATEMENTS FOR THE YEAR ENDED 31 MARCH 2016

1. STATEMENT OF ACCOUNTING POLICIES

Reporting Entity

Shirley Sports Club Limited ("The Company") is a company registered under the Companies Act 1993. The Financial Statements of the Company are special purpose reports prepared for the Directors and Shareholders.

Accordingly, this special purpose report is not prepared in full compliance with generally accepted accounting practice (GAAP) and should not be relied upon for any other purposes or by anyone other than the Directors and Shareholders.

Measurement Base

The accounting principles recognised as appropriate for the measurement and reporting of financial performance and financial position on a historical cost basis are followed by the Company, with the exception of selected items for which specific accounting policies have been applied. Accrual accounting is used to match revenue and expenses. Reliance is placed on the fact that to company is a going concern.

Specific Accounting Policies

The following specific accounting policies which materially affect the measurement of financial performance and financial position have been applied:

a) Receivables

Receivables are recognised at estimated realisable value.

b) Stocks

Stocks are recognised at the lower of cost, determined on a first-in first-out basis, and net realisable value.

c) Buildings, Plant and Equipment

Buildings, plant and equipment are recognised at cost less aggregate depreciation. Depreciation has been calculated using the maximum rates permitted by the Income Tax Act 2004.

d) Leases

The Company leases the land on which the clubrooms are situated from the Christchurch City Council. The lease is for a 20 year term and there is an automatic right of renewal (to be negotiated). Lease payments are made on an annual basis and are recognised as an expense.

e) Goods and Services Tax

The financial statements have been prepared on a GST exclusive basis.

f) Income Tax

The Company has been granted a tax exemption under Section CW 46 of the Income Tax Act 2007 and no income tax is payable.

Changes in Accounting Policies

There have been no changes in accounting policies. All policies have been applied on bases consistent with those used in previous years.

2. SHARE CAPITAL

The Company has issued 100 ordinary shares. These are held equally by the Shirley Rugby Club Inc and the East Christchurch Shirley Cricket Club Inc. At balance date, no share capital had been called up.

All shares have equal voting rights and share equally in dividends and surplus on winding up.

3. STOCKS

No stocks are specifically and separately pledged as security for liabilities. Stocks are subject to retention of title clauses.

4. <u>BUILDINGS, PLANT AND EQUIPMENT</u>

As per attached Fixed Assets and Depreciation Schedule

5. CAPITAL AND OPERATING LEASE COMMITMENTS

Capital Commitments	<u>2016</u>	<u>2015</u>
Estimated capital expenditure contracted for at balance date but not provided for.	Nil	Nil
Operating Lease Commitments	1,054	384

6. <u>ADVANCES - REDEVELOPMENT OF CLUBROOMS</u>

The Shirley Rugby Football Club Inc (SRFC) and East Christchurch Shirley Cricket Club Inc(ECSCC) have advanced funds for the redevelopment of the Clubrooms under terms set out in a Heads of Agreement and Joint Venture Agreement. The project was completed in November 2005. The advances are interest free and technically repayable on demand. However, under the agreement, repayment in the immediate future is unlikely. During the 2015 year, a further advance of \$5,000 from each club was received and, by agreement, rents owing, net of GST, totally \$30,761 for SRFC and \$27,000 for ECSCC were deducted from the advances reducing the balance. The advances are currently - SRFC \$312,311(2015: \$312,311) and ECSCC \$254,661 (2015: \$254,661).

7. LOANS

The term loan from the Christchurch City Council has been fully repaid with a final instalment for the July 2006 advance in July 2015. The loan was secured by general mortgage agreements over the Company's property and guarantees from the Shirley Rugby Football Club Inc., and East Christchurch Shirley Cricket Club Inc. Originally, the Christchurch City Council loan comprised two separate loans of \$50000 each commencing December 2005 and July 2006 respectively. These were repayable in annual instalments of \$10000 each over 5 years. After two instalments at this rate, the terms were modified to annual instalments of \$5000 each over an extended term of eight years for the remaining balance. The December 2005 advance was fully repaid in December 2014. The interest rate was 2% p.a.

8. RELATED PARTY TRANSACTIONS

The Company has related party transactions with both the Shirley Rugby Football Club Inc and the East Christchurch Shirley Cricket Club Inc. By arrangement, rent of \$5,000 plus GST (2015: Nil) has been charged to each member club for the 2016 year. This is a special arrangement adopted by the directors for 2016 year only reflecting a sound cash position. Future rents will be determined by the directors based on amounts considered appropriate by the directors to manage the company effectively. Rents have previously been based on an agreed formula. A new process for determining rents for member clubs was adopted from the year commencing 1 April 2015.

9. SUBSEQUENT EVENTS

There are no material subsequent events (2015: NIL)

10. CONTINGENT LIABILITY

There were no known contingent liabilities at 31/3/2016 (2015: Nil).